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CHEMISTRY

BOOKS - MBD CHEMISTRY (ODIA
ENGLISH)

TRANSITION METALS (d-BLOCK
ELEMENTS)

QUESTION BANK

1. Brass contains which metals?



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AXu1WhNQJWiU

\ ° Watch Video Solution

2. Write the formula of copper amine complex

cation.

° Watch Video Solution

3. Write down the composition of German

silver.

° Watch Video Solution



https://dl.doubtnut.com/l/_AXu1WhNQJWiU
https://dl.doubtnut.com/l/_IUYhp0Vajkvo
https://dl.doubtnut.com/l/_VkSyE0IkNYzJ
https://dl.doubtnut.com/l/_jF3S9hOZ9ovp

4. Name any two alloys of steel.

° Watch Video Solution

5. Write two important ores of iron.

° Watch Video Solution

6. Name two alloys of copper.

° Watch Video Solution



https://dl.doubtnut.com/l/_jF3S9hOZ9ovp
https://dl.doubtnut.com/l/_stEH1u5N5Ls5
https://dl.doubtnut.com/l/_Glrn3fS26k36
https://dl.doubtnut.com/l/_x7CLpMknKk42

7. Which one is more paramagnetic: Fe*™ or

Fe3t ?

O Watch Video Solution

8. What is formula of green vitriol ?

° Watch Video Solution

9. What is formula of Mohr's salt.

° Watch Video Solution



https://dl.doubtnut.com/l/_x7CLpMknKk42
https://dl.doubtnut.com/l/_3OtFfBHRxOnC
https://dl.doubtnut.com/l/_oz7yp6f5EpJS

10. What is % of carbon in cast iron and in

steel ?

° Watch Video Solution

1. What happens when potassium iodide is

added to CuSOy solution ?

O Watch Video Solution



https://dl.doubtnut.com/l/_oz7yp6f5EpJS
https://dl.doubtnut.com/l/_Un8033lxdMgm
https://dl.doubtnut.com/l/_ZzYwH21vRqrt

12. Cast iron is harder than pure iron . Why ?

° Watch Video Solution

13. Calculate the oxidation number of

chromium in K,Cry07.

o Watch Video Solution

14. Copper metal obtained from Bessemer

converter is known as



https://dl.doubtnut.com/l/_lMQYTg3z3CrN
https://dl.doubtnut.com/l/_g1kq19Jh9lrc
https://dl.doubtnut.com/l/_hI43Emh9Rh62

° Watch Video Solution

15. What is Bessemerisation ?

° Watch Video Solution

16. Which is the lightest transition metal ?

° Watch Video Solution



https://dl.doubtnut.com/l/_hI43Emh9Rh62
https://dl.doubtnut.com/l/_sRxieQ5SkeFp
https://dl.doubtnut.com/l/_9OO9WqaCG311

17. The highest oxidation state of transition

metal is what ?

° Watch Video Solution

18. Paramagnetic character of transition

elements is due to

o Watch Video Solution



https://dl.doubtnut.com/l/_boRdDapweeI8
https://dl.doubtnut.com/l/_stfnQwC7JJUe

19. The hardness of iron is mostly due to the

presence of

° Watch Video Solution

20. Composition of copper matel is

° Watch Video Solution

21. The purity of blistered copper is

O Watch Video Solution



https://dl.doubtnut.com/l/_BHvZ5higsMZE
https://dl.doubtnut.com/l/_4i7gdsHkEKTj
https://dl.doubtnut.com/l/_l3sEsTWU62Ty

22. Copper metal obtained from

converter is known as

Bessemer

° Watch Video Solution

23. Blue vitriol is

° Watch Video Solution



https://dl.doubtnut.com/l/_l3sEsTWU62Ty
https://dl.doubtnut.com/l/_b6F4oUG4xtj2
https://dl.doubtnut.com/l/_yExyBgZZGhNw

24, Cast iron contains maximum percentage of

° Watch Video Solution

25. Azurite is the ore of

° Watch Video Solution

26. Bell metal is an alloy of :

° Watch Video Solution



https://dl.doubtnut.com/l/_LSSfgh98jgtY
https://dl.doubtnut.com/l/_tEWEGCQcEkiX
https://dl.doubtnut.com/l/_wSczAyuqGDmM

27. German silver is alloys of

° Watch Video Solution

28. Mohr.s salt is

° Watch Video Solution

29. Galvanised iron sheets have coating of :

° Watch Video Solution



https://dl.doubtnut.com/l/_wSczAyuqGDmM
https://dl.doubtnut.com/l/_BCPB5Nip12Dt
https://dl.doubtnut.com/l/_EP4sVDLpa8Ky
https://dl.doubtnut.com/l/_oY8IO4Rfd5uk

30. FeSOy. TH50 is known as

° Watch Video Solution

31. Percentage of carbon in steel is

° Watch Video Solution

32. Brass contains

° Watch Video Solution



https://dl.doubtnut.com/l/_oY8IO4Rfd5uk
https://dl.doubtnut.com/l/_QDxJg74g5tDp
https://dl.doubtnut.com/l/_WRlPqsMLsa1h
https://dl.doubtnut.com/l/_Nsh6ezCBUUFC

33. Imprortant iron ore is

° Watch Video Solution

34. Purest from of iron is

° Watch Video Solution

35. F'e30y is known as

° Watch Video Solution



https://dl.doubtnut.com/l/_Nsh6ezCBUUFC
https://dl.doubtnut.com/l/_pcATTZgAV5WN
https://dl.doubtnut.com/l/_jlIsXnvHXRST
https://dl.doubtnut.com/l/_mAZ1WgteskPK

36. FeSO,. TH50 is known as

° Watch Video Solution

37. Constantion is alloys of

° Watch Video Solution

38. Cu, Ag and Au are called white metals. Is it

true or false?



https://dl.doubtnut.com/l/_mAZ1WgteskPK
https://dl.doubtnut.com/l/_glEwagJY9rQT
https://dl.doubtnut.com/l/_2yLqbUIF26Tx
https://dl.doubtnut.com/l/_v1fW2f9PXj1o

I ° Watch Video Solution

39. Which is the lightest transition metal ?

° Watch Video Solution

40. The chemical formula of chromite mineral :

° Watch Video Solution



https://dl.doubtnut.com/l/_v1fW2f9PXj1o
https://dl.doubtnut.com/l/_nnuMK40b1FrM
https://dl.doubtnut.com/l/_T5mIMPJLD9SK

41. d-block elements are called inner transtion

elements.,

° Watch Video Solution

42. f-block elements are called transtion

elements.

o Watch Video Solution



https://dl.doubtnut.com/l/_K9wzd2orHR61
https://dl.doubtnut.com/l/_md0u0VZRVENy

43. Explain why CuSOy is blue while ZnS0Oy, is

white.

° Watch Video Solution

44.What happens when blue vitriol is heated?

o Watch Video Solution

45, What is the oxidation number of nickel in

Ni(CO) 4 ?



https://dl.doubtnut.com/l/_kEKnEFgQ0LaW
https://dl.doubtnut.com/l/_wG8t87lh3pma
https://dl.doubtnut.com/l/_fmx31wVt9BpR

O Watch Video Solution

46. Why Zn, Cd and Hg are not regarded as

transtition elements?

° Watch Video Solution

47. Define the term tempering and nitriding.

° Watch Video Solution



https://dl.doubtnut.com/l/_fmx31wVt9BpR
https://dl.doubtnut.com/l/_NJIUpqcSlmKi
https://dl.doubtnut.com/l/_qnF6mhvX3CBG

48. What is the role of limestone in the

extraction of iron from red haematite?

° Watch Video Solution

49, Write one method for the preparation of

CuSQOy. Also write its uses.

o Watch Video Solution



https://dl.doubtnut.com/l/_Up3ch9WVRhzV
https://dl.doubtnut.com/l/_9yGlVk2wxoLO

50. Write the ground state electronic

configuration of Fee® + ion.

° Watch Video Solution

51. Give the formula and the name of one

ammine complex of copper.

o Watch Video Solution



https://dl.doubtnut.com/l/_zSD5oHj6b4DG
https://dl.doubtnut.com/l/_2szfSwtI3TpV

52. How can you get wrought iron from cast

iron ?

° Watch Video Solution

53. Why transition elements form a large

number of complexes?

o Watch Video Solution



https://dl.doubtnut.com/l/_WdlJrU3hO27g
https://dl.doubtnut.com/l/_l7mdx47z2u2q

54. Complete the chemical reaction.

20’&504 + 4kl —

° Watch Video Solution

55. Complete the chemical reaction.

CUQS + C’U,QO —

o Watch Video Solution



https://dl.doubtnut.com/l/_OCJ5O0kAUjzF
https://dl.doubtnut.com/l/_Hyoh938Drw1g

56. Explain magnetic behavior of transistion

elements.

o Watch Video Solution

57. Ferric oxide crystallises in a hexagonal
close packed array of oxide ions with two out
of every three octahedral holes occupied by
ferric ions. Derive the formula of the ferric

oxide.

o Watch Video Solution



https://dl.doubtnut.com/l/_eJIFL9c1CBpw
https://dl.doubtnut.com/l/_pSGJX4DMpsrc

58. What are alloy steels? Give three examples.

° Watch Video Solution

59. Differentiate the processes annealing and

hardening.

° Watch Video Solution

60. What is blue vitriol? How it is prepared?

[ @8 Watch Video Solution ]


https://dl.doubtnut.com/l/_pSGJX4DMpsrc
https://dl.doubtnut.com/l/_Q78lnd6XejJ8
https://dl.doubtnut.com/l/_Wxknndf0a1Mk
https://dl.doubtnut.com/l/_W5gvvrYx8ut7

61. What happens when NH4OH solution is
added drop by drop to CuSO, solution till

excess?

° Watch Video Solution

62. Write some characteristics of transition

elements.

0 Watch Video Solution



https://dl.doubtnut.com/l/_W5gvvrYx8ut7
https://dl.doubtnut.com/l/_Hnlw5uKSQ5Jf
https://dl.doubtnut.com/l/_GNg3HoC1Kf4v

63. Discuss general trends in properties of first

row transition metals.

° Watch Video Solution

64. Describe preparation and properties of

KQC’T’207

o Watch Video Solution



https://dl.doubtnut.com/l/_iHQMwEcjxFAg
https://dl.doubtnut.com/l/_PsA9NuOLKBFt

65. Discuss preparation and properties of

KM’I’LO4

° Watch Video Solution

66. Discuss chemistry of lanthanoids.

o Watch Video Solution

67. What is lanthanoid contraction? Explain its

causes and effects.



https://dl.doubtnut.com/l/_PRPQOuVvhK3n
https://dl.doubtnut.com/l/_RJ3JtXxxqO3M
https://dl.doubtnut.com/l/_fLAIZx5wmUre

° Watch Video Solution

68. Briefly describe the chemistry of actinoids.

° Watch Video Solution

69. Ferric oxide in furnance is reduced by

A C

B. H,

C.CO


https://dl.doubtnut.com/l/_fLAIZx5wmUre
https://dl.doubtnut.com/l/_j1dlOlMfgWjp
https://dl.doubtnut.com/l/_Em59ch2zScOb

D. CO,

Answer: C

o Watch Video Solution

70. Potassium manganate (KyMnQOy,) is
formed when :

A. Cly is passed into an aqueous KMnQO,
solution

B. MnQ, is fused with KOH in air


https://dl.doubtnut.com/l/_Em59ch2zScOb
https://dl.doubtnut.com/l/_xBV1q6apVZNc

C. Formaldehyde reacts with KMnQO, in

presence of storng alkali

D. KMnO, reacts with concentrated

H,50,

Answer: B

° Watch Video Solution

71. A solution of Cr(INOs), slowly turns green
when concentrated HCl is added to it . It is due

to the formation of:


https://dl.doubtnut.com/l/_xBV1q6apVZNc
https://dl.doubtnut.com/l/_98TuNtEwlJIH

A. C’I"Clg
B. C’l"z 03
C.CrO

D. Chloro complex [Cr(HzO)EJ Cls

Answer: D

o Watch Video Solution

72. In the manufacture of iron from an iron
oxide ore , limestone is added because it acts

as:


https://dl.doubtnut.com/l/_98TuNtEwlJIH
https://dl.doubtnut.com/l/_FsvUub5HCT9p

A. An oxidising agent

B. Areducing agent

C. A flux

D. A precipitating agent

Answer: C

o Watch Video Solution

73. Steel contains :

A2.5—-45% C


https://dl.doubtnut.com/l/_FsvUub5HCT9p
https://dl.doubtnut.com/l/_p1ZzZn5wxEOT

B.0.5—1.5% C

C.0.12-0.25%C

D.1—-2%C

Answer: B

° Watch Video Solution

74. Stainless steel contains:

A.50% Cr

B.2.5% Cr


https://dl.doubtnut.com/l/_p1ZzZn5wxEOT
https://dl.doubtnut.com/l/_rMb1z9yOxmtL

C.14% Cr

D.2% Cr

Answer: C

° Watch Video Solution

75. Carbon content in wrought iron is :

A.0.1 -0.5%

B.1.5—2%

C.0.2%


https://dl.doubtnut.com/l/_rMb1z9yOxmtL
https://dl.doubtnut.com/l/_jAXPsHpwEuSP

D.2 —-5%

Answer: A

o Watch Video Solution

76. The alloy which contains nickel is :

A. Brass

B. Bell metal

C. Bronze

D. German silver


https://dl.doubtnut.com/l/_jAXPsHpwEuSP
https://dl.doubtnut.com/l/_8GO21ilGsDL7

Answer: D

o Watch Video Solution

77. The metal used for making armoured steel

for tanks and domestic safes is :

A. Maganese

B. Aluminium

C. Lead

D. Chromium


https://dl.doubtnut.com/l/_8GO21ilGsDL7
https://dl.doubtnut.com/l/_s8u0vTOTWq2w

Answer: A

° Watch Video Solution

78. The process of nitriding used in the

treatment of steel is :

A. Heating steel in an atmosphere of

ammonia

B. Heating steel to a bright redness and

cooling


https://dl.doubtnut.com/l/_s8u0vTOTWq2w
https://dl.doubtnut.com/l/_HsTNld3cIZ0Y

C. Heating steel to bright redness and then

cooling by plunging in air

D. None

Answer: B

o Watch Video Solution

79. Roasting is used during metallurgical

operations for :

A. Galena


https://dl.doubtnut.com/l/_HsTNld3cIZ0Y
https://dl.doubtnut.com/l/_bGGuKBYvCMBr

B. Iron pyrites

C. Copper glance

D. All

Answer: D

° Watch Video Solution

80. Pig iron is converted into steel by
decreasing the amount of carbon contained in

it, in a:


https://dl.doubtnut.com/l/_bGGuKBYvCMBr
https://dl.doubtnut.com/l/_7xW6BVucuJz2

A. Blast furnace

B. Pyrite burner

C. Bessemer's converter

D. None of these

Answer: C

o Watch Video Solution

81. Mond process is used in the extraction of :

A. Co


https://dl.doubtnut.com/l/_7xW6BVucuJz2
https://dl.doubtnut.com/l/_ZXeSe7lBxIY4

B. Ni

C. Mo

D.Zn

Answer: B

° Watch Video Solution

82. Manganese steel contains:

A.Fe + C+ Mn

B.Fe + C + Al


https://dl.doubtnut.com/l/_ZXeSe7lBxIY4
https://dl.doubtnut.com/l/_oZoVA41SipA2

C.Fe + Mn

D.Fe + Mn + Cr

Answer: A

° Watch Video Solution

8. Iron is rendered passive in concentrated :

A. H,50,

B. H3 PO,

C.HCI


https://dl.doubtnut.com/l/_oZoVA41SipA2
https://dl.doubtnut.com/l/_Gb4GufqZ4y1a

D. HNO,

Answer: D

o Watch Video Solution

84.Wroughtiron is :

A. Pure iron with 01t00.2 % C

B. Pig iron

C. An alloy of steel

D. Impure sulphide ore of iron


https://dl.doubtnut.com/l/_Gb4GufqZ4y1a
https://dl.doubtnut.com/l/_u4N42x9y9n0Q

Answer: A

° Watch Video Solution

85. Platinum , palladium , iridium , etc are

called noble metals because:

A. Alfred Nobel discovered them

B. They are inert towards many common

reagents


https://dl.doubtnut.com/l/_u4N42x9y9n0Q
https://dl.doubtnut.com/l/_uQkHacY4FYYX

C. They are shining , lustors and pleasing to

look

D. They are found in native state

Answer: B

o Watch Video Solution

86. Which of the following is a ferrous alloy ?

A. Invar

B. Solder


https://dl.doubtnut.com/l/_uQkHacY4FYYX
https://dl.doubtnut.com/l/_alKjAreYB9hv

C. Magnalium

D. Type metal

Answer: A

° Watch Video Solution

87. The raw materials fed into the blast furnace

for making iron are :

A. FeO ,(CaCQOj5 and coke

B. F'e503 , CaO and coke


https://dl.doubtnut.com/l/_alKjAreYB9hv
https://dl.doubtnut.com/l/_HiZvSqvoMhEU

C. Fey03, CaCO3 and coke

D. Fe3sOy, Ca(OH), and coke

Answer: C

° Watch Video Solution

88. A clock spirng is heated to a high
temperature and then suddenly pluged into
cold water . This treatment will cause the

metal to becone:


https://dl.doubtnut.com/l/_HiZvSqvoMhEU
https://dl.doubtnut.com/l/_kGVVLX03OPe4

A. Soft and ductile

B. More springy than before

C. Hard and brittle

D. Strongly magnetic

Answer: C

° Watch Video Solution

89. The process of covering iron sheet with a

layer of zinc is called:


https://dl.doubtnut.com/l/_kGVVLX03OPe4
https://dl.doubtnut.com/l/_ziDDnqVe8DzO

A. Galvanizing

B. Zinc plating

C. Tempering

D. Rusting

Answer: A

o Watch Video Solution

90. Which form of iron has lowest percentage

of carbon ?


https://dl.doubtnut.com/l/_ziDDnqVe8DzO
https://dl.doubtnut.com/l/_2zxYLEpDx0PG

A. Cast iron

B. Wrought iron

C. Steel

D. All have same percentage

Answer: B

o Watch Video Solution

91. A substance which is not paramagnetic is :

A. C’I“(Cl04)3


https://dl.doubtnut.com/l/_2zxYLEpDx0PG
https://dl.doubtnut.com/l/_HQEcmgBNNKpI

B. KM’I’LO4

C. TiCls

D. VOB’I"2

Answer: B

° Watch Video Solution

92. Galvanization means:

A. Deposition of Zn on Fe

B. Deposition of Al on Fe


https://dl.doubtnut.com/l/_HQEcmgBNNKpI
https://dl.doubtnut.com/l/_h7IpQSPXEiia

C. Deposition of Sn on Fe

D. Deposition of Cu on Fe

Answer: A

° Watch Video Solution

93. Substances which do not react with cold

water but react with steam are:

A. C ,C’a , 502

B.FB,Al,Clz


https://dl.doubtnut.com/l/_h7IpQSPXEiia
https://dl.doubtnut.com/l/_7SGcauDB1qFI

C.CO9,Na,Mg

D.Co, Fe,Mn

Answer: B

° Watch Video Solution

94. The following reaction describes the
rusting of iron , 4Fe + 305 — 4Fe> " + 60°~
. Which one of the following statements is

incorrect:


https://dl.doubtnut.com/l/_7SGcauDB1qFI
https://dl.doubtnut.com/l/_GJNsjTto6oYZ

A. This is an example of a redox reaction
B. Metallic iron is reduced to Fe? ™"
C. Fe* " is an oxidising agent

D. Metallic iron is a reducing agent

Answer: B

° Watch Video Solution

95. Which is formed when FeSO, reacts with

an oxidising agent ?



https://dl.doubtnut.com/l/_GJNsjTto6oYZ
https://dl.doubtnut.com/l/_NFlTru8sOxEn

A Fe(OH)SO,
B. FGSO4N0
C. Fe(OH),

D. F62(SO4)3

Answer: D

o Watch Video Solution

96. Iron sheets are galvanized mainly to :

A. Harden the surface


https://dl.doubtnut.com/l/_NFlTru8sOxEn
https://dl.doubtnut.com/l/_cv30QfwEFSid

B. Increase lustre

C. Prevent action of water

D. Prevent action of oxygen and water

Answer: D

° Watch Video Solution

97. Correct formula of patassium ferrocyanide

IS :

A.Ky|Fe(CN)]|


https://dl.doubtnut.com/l/_cv30QfwEFSid
https://dl.doubtnut.com/l/_SWLEmmEgmIZZ

B. K3|Fe(CN),|
C. KFG(CN)G HQO

D. Galena

Answer: A

° Watch Video Solution

98. Correct formula of potassium ferricyanide

IS :

A.Ky|Fe(CN)4|


https://dl.doubtnut.com/l/_SWLEmmEgmIZZ
https://dl.doubtnut.com/l/_e46ZYeXSCqg5

B. K3|Fe(CN),|
C. KFe|Fe(CN)g. HyO)|

D. KyFe|Fe(CN)g)

Answer: B

° Watch Video Solution

99. Which metal corrodes readily in moist air ?

A. Gold

B. Silver


https://dl.doubtnut.com/l/_e46ZYeXSCqg5
https://dl.doubtnut.com/l/_aEGZ6QxOINwr

C. Nickel

D. Iron

Answer: D

° Watch Video Solution

100. The colour of Mohr's salt,

(NH4)2SO4F6(SO4)6H20 IS :

A. White

B. Green


https://dl.doubtnut.com/l/_aEGZ6QxOINwr
https://dl.doubtnut.com/l/_r0Nx2RcBpmwO

C. Violet

D. Blue

Answer: B

° Watch Video Solution

101. Which is not an ore of iron ?

A. Haematite

B. Magnetite

C. Cassiterite


https://dl.doubtnut.com/l/_r0Nx2RcBpmwO
https://dl.doubtnut.com/l/_HEEdilouT1Dy

D. Limonite

Answer: C

o Watch Video Solution

102. In india iron is obtained from the ore:

A. Cassiterite

B. Azurite

C. Haematite

D. Cryolite


https://dl.doubtnut.com/l/_HEEdilouT1Dy
https://dl.doubtnut.com/l/_cOlKgUyoDBn4

Answer: C

o Watch Video Solution

103. Platinum metal can be dissolved in :

A. Hot concentrated hydrochloric acid

B. Hot concentrated nitric acid

C. Hot dilute sulphuric nitric acid

D. A mixture of hydrochloric and nitric acids

Answer: D


https://dl.doubtnut.com/l/_cOlKgUyoDBn4
https://dl.doubtnut.com/l/_MbCeAskM70WK

o Watch Video Solution

104. The stainless steel developed in india
contains the following special components :
A.Vanadium and cobalt
B. Nickel and magnesium
C. Maganese and chromium

D. Aluminium and zinc

Answer: C

r. l



https://dl.doubtnut.com/l/_MbCeAskM70WK
https://dl.doubtnut.com/l/_rxWTpyA9cOm8

{ T vvaldll vidcO S50O1Uution

105. In india steel plants are not located at :

A. Jamshedpur

B. Bhilai

C. Rourkela

D. Nangal

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_rxWTpyA9cOm8
https://dl.doubtnut.com/l/_nx133nPKdCq7
https://dl.doubtnut.com/l/_1sF6r8d4sZPx

106. one of the components of stainless steel

IS :

A.Cr

B. Mg

C.Sn

D.W

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_1sF6r8d4sZPx

107. The alloy of steel that is used for making

automobile parts and utensils is :

A. Stainless steel

B. Nickel steel

C. Tungsten steel

D. Chromium steel

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nW1F7h8RMMXA
https://dl.doubtnut.com/l/_SycSrUsirGfi

108. The purest form of commercial iron is :

A. Cast iron

B. Pig iron

C. Wrought iron

D. steel

Answer: C

o Watch Video Solution

109. A metal froms a volatile carbonyl is:


https://dl.doubtnut.com/l/_SycSrUsirGfi
https://dl.doubtnut.com/l/_qPeWrd3nkHZG

A. lron

B. Nickel

C. Cobalt

D. Titanium

Answer: B

o Watch Video Solution

110. The extraction nickel involves:

A. The formation of Ni(CO),


https://dl.doubtnut.com/l/_qPeWrd3nkHZG
https://dl.doubtnut.com/l/_TCzUk05ffYpx

B. The decomposition of Ni(CO),
C.The formation and thermal
decomposition of Ni(CO),

D. The formation and catalytic

decomposition of Ni(CO),

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TCzUk05ffYpx

111. In the netallurgy of iron , when limestone

is added to the blast furnace , the calcium ion

ends up as :

A.Slag

B. Gangue

C. Metallic calcium

D. Calcium carbonate

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_JPSIywsQvCLW

112. Rusting of iron is a chemical reaction . The

reaction is :

A. Analysis

B. Displacement

C. Oidation of Fe

D. Double decomposition

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LAXz7QIammGu
https://dl.doubtnut.com/l/_ZlHr85MCa9Gr

113. Haematite is an ore of :

A. Boron

B. Iron

C. Manganese

D. Copper

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZlHr85MCa9Gr

114. The properties of cast iron , wrought iron

and steel are different because they have :

A. Different contents of sulphur

B. Different contents of carbon

C. Traces of different elements

D. Traces of different iron oxides

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yDEVGhhh7o4A
https://dl.doubtnut.com/l/_4n407CyljB6b

115. A hard and resistant alloy generally used

in tip of nib of pen is :

A.Os ,Ir

B.Pt,Cr

C.V,Fe

D. Fe, Cr

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4n407CyljB6b

116. Which occurs in nature in free state ?

A. Fe

B. Co

C.Ni

D. Pt

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Aac7MNPT2p0r

17. The general electronic configuration of

transition elements is

A (n—1)d'°
B.(n — 1)d' *'ns!
C.(n—1)d' Pns® 2

D. None

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Vim7WOgb5NrL
https://dl.doubtnut.com/l/_uostgM8gB064

118. Transition elements are good conductor of

current because :

A. They are metals

B. They are all solids

C. They have free electrons in outer energy

orbits

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uostgM8gB064
https://dl.doubtnut.com/l/_FPlXVL8UkZd8

119.Iron is :

A. Normal element

B. Transition element

C. Typical element

D. Inert element

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FPlXVL8UkZd8

120. Transition elements are coloured due to:

A. Small size

B. Metallic nature

C. Unpaired d-electrons

D. None

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5LXWuISLkHuW

121. A transition element X has the
configuration [Ar]d* in its +3 oxidation state.
Its atomic number is

A. 25

B. 26

C. 22

D. 19

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_USOE1hSkOBzb

122. Elements of group 11 and 12 are:

A. Normal elements

B. Transition elements

C. Alkaline earth metals

D. Alkali metals

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0e1gN1RXfgjW

123. Formation of intertitial compounds make

the transition metal :

A. More soft

B. More ductile

C. More metallic

D. More brittle

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iCLkZChccqie
https://dl.doubtnut.com/l/_kGRJnZcc0JTr

124. Kg [CO(NOQ)G} Is :

A. Fischer's salt
B. Thenard's blue
C.Rinman's green

D. Blue vitriol

Answer: A

o Watch Video Solution

125. Prussian blue is :


https://dl.doubtnut.com/l/_kGRJnZcc0JTr
https://dl.doubtnut.com/l/_TjU4AaKuhuss

A. K3|Fe(CN)]|
B. Fey [ [Fe(CN)g] ]
C. KyFe|Fe(CN)g]

D. K, [Fe(CN),]

Answer: B

o Watch Video Solution

126. Ferrous sulphate is called as:

A. Green vitriol


https://dl.doubtnut.com/l/_TjU4AaKuhuss
https://dl.doubtnut.com/l/_6eG7XxJRSc2V

B. White vitriol

C. Jewellerss rouge

D. Glaubers salt

Answer: A

° Watch Video Solution

127. Percentage of nickel in nickel steel is :

A.19%

B.35%


https://dl.doubtnut.com/l/_6eG7XxJRSc2V
https://dl.doubtnut.com/l/_8aWSH1PJ6sAd

C.39.5 %

D.8.5%

Answer: B

° Watch Video Solution

128. Iron is obtained on large scale from

haematite,

A. By reduction

B. By oxidation


https://dl.doubtnut.com/l/_8aWSH1PJ6sAd
https://dl.doubtnut.com/l/_wWV2RK8viu8n

C. By reduction followed by oxidation

D. By oxidation following by reduction

Answer: B

° Watch Video Solution

129. In comparison to ferrous salts , ferric salts

are:

A. More stable

B. Less stable


https://dl.doubtnut.com/l/_wWV2RK8viu8n
https://dl.doubtnut.com/l/_lUlIEv6Sn49k

C. Equally stable

D. None of the above

Answer: A

° Watch Video Solution

130. Which form contains the

percentage of carbon ?

A. Wrought iron

B. Cast iron

maximum


https://dl.doubtnut.com/l/_lUlIEv6Sn49k
https://dl.doubtnut.com/l/_q5qM4e1CDR4D

C. Malleable iron

D. steel

Answer: B

° Watch Video Solution

131. Which statement is correct ?

A.lron belongs to 3d-transition series of

the periodic table


https://dl.doubtnut.com/l/_q5qM4e1CDR4D
https://dl.doubtnut.com/l/_Ulxc4RC3H8CB

B.Iron belong to f-block of the periodic

table

C. Iron belongs to first tansition series

D. Iron belongs to group VIl of the periodic

Answer: D

o Watch Video Solution

132. Addition of FeCls solution to

K, |[Fe(CN)g4| solution gives :


https://dl.doubtnut.com/l/_Ulxc4RC3H8CB
https://dl.doubtnut.com/l/_4Ue3IZtWVALm

A. Ferro-ferricyanide

B. Ferri-ferrocyanide

C. Ferri-ferricyanide

D. None

Answer: B

o Watch Video Solution

133. Fe ore is concentrated by :

A. Magnetic treatment


https://dl.doubtnut.com/l/_4Ue3IZtWVALm
https://dl.doubtnut.com/l/_L9vpDf5w08bm

B. Froth floatation

C. Electrolysis

D. Roasting

Answer: A

° Watch Video Solution

134. Finely divided iron combines with CO to

give :

A. Fe(CO),


https://dl.doubtnut.com/l/_L9vpDf5w08bm
https://dl.doubtnut.com/l/_xELPAbPhKFE4

B. Fe(CO)-
C. Fe(CO),

D. Fe(CO),

Answer: B

° Watch Video Solution

135. The term fools gold is used for a mineral

which shines likes gold . It is :

A.lron pyrite


https://dl.doubtnut.com/l/_xELPAbPhKFE4
https://dl.doubtnut.com/l/_AySjtelNX7Rd

B. Copper glance

C. Cinnabar

D. Cadmium sulphide

Answer: A

o Watch Video Solution

136. The formula of sodium nitroprusside is:

A.Na,|Fe(CN) ;NOS|

B. Nay | Fe(CN),NO|


https://dl.doubtnut.com/l/_AySjtelNX7Rd
https://dl.doubtnut.com/l/_XqvvF1WGbFaC

C. NaFe|Fe(CN)g]

D. Nay|Fe(CN)sNO;|

Answer: B

° Watch Video Solution

137. Magnetite is :

A. 2F6203 . 3H20

B. FBSQ

C. F€304


https://dl.doubtnut.com/l/_XqvvF1WGbFaC
https://dl.doubtnut.com/l/_0Vji4YEsjlBA

D. F6203

Answer: C

o Watch Video Solution

138. Automobile engine blocks are made up of :

A. Stainless steel

B. Nickel - chromium steel

C.Cast iron

D. Wrought iron


https://dl.doubtnut.com/l/_0Vji4YEsjlBA
https://dl.doubtnut.com/l/_1MU8d14BOIeD

Answer: C

° Watch Video Solution

139. Invar is an alloy of :

A. Steel and chromium

B. Vanadium and manganese

C. Tungstrn and chromium

D. steel and nickel

Answer: D


https://dl.doubtnut.com/l/_1MU8d14BOIeD
https://dl.doubtnut.com/l/_CvWFr8BABe3E

° Watch Video Solution

140. Pig iron :

A. Contains carbon and other impuriies

B. Is pure from of iron

C.Is same as wrought iron

D. Is same as steel

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CvWFr8BABe3E
https://dl.doubtnut.com/l/_5cIJOjuOCbAp

141. The formula of haematite is :

A. F6304

B. F€203

C. FeCOg

D. F€SQ

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_sB7i2MX0POP4

142. Iron rusts in the persence of :

A.O and N,

B. Oy and moisture

C. Moisture only

D. 02 onIy

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HU4NUmXvuUK2

143. Which match is inccorect ?

A. Ammonia soda process - manufacture of

potassium carbonate

B. Bessemer.s process - manufacture of

steel

C.Mac arther and forrest process -

extraction of silver

D. Dow.s procees -manufacture of phenol

Answer: A



https://dl.doubtnut.com/l/_tCOxplHwSaTH

\ o Watch Video Solution

144. Iron, once dipped in concentratred
H,50, , does not displace copper from
copper sulphate solution , because :

A. It is less reactive than copper

B. A layer of sulphte is deposited on it

C. A layer of oxide is deposited on it

D. None

Answer: C


https://dl.doubtnut.com/l/_tCOxplHwSaTH
https://dl.doubtnut.com/l/_F42indrjDAgp

° Watch Video Solution

145. Wood's metal is an alloy of :

A. Pb

B.Zn

C.Fe

D. Sn

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_F42indrjDAgp
https://dl.doubtnut.com/l/_RtixdorlQqRs

146. The grey cast iron contains :

A. Iron carbide

B. Silicon carbide

C. Silicon dioxide

D. Graphite

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6pfLLi0akmMB

147. Soft and pliable steel is obtained by :

A. Tempering

B. Nitriding

C. Annealing

D. None

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DFo1GMFXSMIr

148. Pig iron is manufactured using :

A. An electric furnace

B. A blast furnace

C. An open hearth furnace

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OmKbEpuBkC1A

149. Which of the following has the highest

percentage of carbon ?

A. Stainless steel

B. Pig iron

C. Solder

D. German silver

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tlzsCXDYJ4s0
https://dl.doubtnut.com/l/_GMbImidbUbtB

150. Clock pendulums are made from:

A. Brass

B. Invar

C. Solder

D. German silver

Answer: B

o Watch Video Solution

151. Steel that is resistant to acids is :


https://dl.doubtnut.com/l/_GMbImidbUbtB
https://dl.doubtnut.com/l/_uzd11SGRjv1T

A. Carbon steel

B. Molybdenum steel

C. Stainless steel

D. Nickel steel

Answer: B

o Watch Video Solution

152. Which one of the metals does not form

amalgam ?


https://dl.doubtnut.com/l/_uzd11SGRjv1T
https://dl.doubtnut.com/l/_or29pb7yKRuD

A. Fe

B. Cu

D.Zn

Answer: A

° Watch Video Solution

153. Silver is a soft metal . It is hardened by

alloying it with small amount of :

l n Watch Video Solution ]


https://dl.doubtnut.com/l/_or29pb7yKRuD
https://dl.doubtnut.com/l/_RR7wCqMA1C6c

154. From which from of iron, other forms of

iron can be produced ?

A. Cost iron

B. Wrought iron

C.Pig iron

D. steel

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_RR7wCqMA1C6c
https://dl.doubtnut.com/l/_SCKYMQt1FLFV

155. Which from of iron is least ducite ?

A. Hard steel

B. Cast iron

C. Mild steel

D. Wrought iron

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SCKYMQt1FLFV
https://dl.doubtnut.com/l/_vTJ22a4uQ6px

156. The fusible alloy of cadmium is

A. Bell metal

B. Monel metal

C. Wood metal

D. Guinea gold

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rNJ6K7COjHM1

157. Stainless steel does not rust because :

A. Nickel present in it does not rust

B.Iron forms a hard chemical compound

with chromium present in it

C. Chromium and nickel combine with iron

D. Chromium forms an oxide layer that

protects iron from rusting

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_nfuEjG95ZtvO

158. Passivity of iron is due to the formation of

thin film of its :

A. Oxide

B. Carbonate

C. Nitride

D. Hydroxide

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nfuEjG95ZtvO
https://dl.doubtnut.com/l/_ibB5tU2aHiDW

159. Iron gets rusted due to the action of :

A. Oxygen

B. water

C. Moisture

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_eBohhtVIgBNy

160. Hard steel contains :

A. No carbon

B.0.6 — 1.5 % carbon

C.5% carbon

D.0.5 — 0.2 % carbon

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_OZ1qkDaOQoE3

161. The sand stone in some iron ores is

removed by:

A. Carbon filters

B. Compressed air

C. Limestone

D. sulphide acid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mgGbUsmiHksv
https://dl.doubtnut.com/l/_unLPSlssZGHQ

162. Most of the known elements are :

A. Metals

B. Non-metals

C. Transition elements

D. Rare earths

Answer: A

o Watch Video Solution

163. Mn belongs to :


https://dl.doubtnut.com/l/_unLPSlssZGHQ
https://dl.doubtnut.com/l/_aepTgtzSA6lV

A. s-block

B. p-block

C.d-block

D. f-block

Answer: C

° Watch Video Solution

164. Orford process is used in extraction of :

A. Fe


https://dl.doubtnut.com/l/_aepTgtzSA6lV
https://dl.doubtnut.com/l/_OH68bKspVEXj

B. Co

C. Pt

D. Ni

Answer: D

0 Watch Video Solution

165. The percentage of carbon is same in :

A. Cast iron and pig iron

B. Cast iron and steel


https://dl.doubtnut.com/l/_OH68bKspVEXj
https://dl.doubtnut.com/l/_39vSfqCd3aQV

C. Pig iron and steel

D. Pig iron and wrought iron

Answer: A

° Watch Video Solution

166. The highest magnetic moment for

transition metals exist for:

A. 3d°

B.3d’


https://dl.doubtnut.com/l/_39vSfqCd3aQV
https://dl.doubtnut.com/l/_x8229jGf430S

C.3d°

D. 3d°

Answer: C

° Watch Video Solution

167. The carbo content of :

A. Cast iron is in between that of steel and

wrought iron


https://dl.doubtnut.com/l/_x8229jGf430S
https://dl.doubtnut.com/l/_DagSOjV16FoL

B. Pig iron is in between that of steel and

wrought iron

C. Steel is in between that of cast iron and

wrought iron

D. Wrought iron is in between that of steel

and cast iron

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DagSOjV16FoL

168. Near the top of a blast furnace employed

for the extrction of iron the metal oxides are

reduced to spongy iron by :

A. Carbon

B.CO

C.COq

D. Limestone

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_f2dhFr5Ufe86

169. Zinc , cadmium and mercury are:

A. d-block elements

B. p-block elements

C. s-block elements

D. f-block elements

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UtrZiahGrkWo

170. Essential constituent of an amalgam is :

A. Fe

B. An alkali metal

C. Silver

D. Mercury

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pSqWopFG7os1

171. The chloride that turns black on addition

of NH;OH is :

A. AgCl

B. PbCl,

C. Hg20l2

D.Both (b) and ( C)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BG5FwSntAm2y
https://dl.doubtnut.com/l/_8JYHTMvKEMgI

172. Calomel may be freed from traces of

metallic mercury by washing with :

A dil. HNO,

B.dil. H,50,

C. Water

D. Aqua regia

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_8JYHTMvKEMgI

173. Spelter is:

A. Impure Cu

B. Impure zinc

C.ZnO

D. CuO

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fGKfciru22bi

174. Amalgams are:

A. Always solid

B. Highly coloured alloys

C. Alloys which contain mercury as one of

the contents

D. Compounds of mercury

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6qbk6hNYedxM
https://dl.doubtnut.com/l/_lutjYlq9xhtr

175. Chemical name of corrosive sublimate is :

A. Mercurous chloride

B. Zinc chloride

C. Mercuric chloride

D. Aluminium chloride

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lutjYlq9xhtr

176. Consider an ideal gas contained in a

vessel. It the intermolecular interaction

suddenly begains to act, which of the

following will happen :

A. Place it in hot strong nitric acid

B. Place it in cold diulite hydrochloric acid

C. Heat it gently in a sand - bath

D. Heat it in chlorine

Answer: C

l o Watch Video Solution


https://dl.doubtnut.com/l/_TVPKEhuz0E6M

177. Mercury on heating with aqua - regia
yields :

A Hg(NOs),

BHgCl2

C.Hg(NO»),

D. Hgg Cl2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TVPKEhuz0E6M
https://dl.doubtnut.com/l/_8ncurfFLmcU1

178. The meniscus of mercury in a glass tube is

A. Convex upwards

B. Concave

C.Plane

D. Convex inwards

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8ncurfFLmcU1
https://dl.doubtnut.com/l/_SfdmzN034HlG
https://dl.doubtnut.com/l/_7JR7mRXD6IM5

179. Which statement about corrosive

sublimate is incorrect ?

A.lt is prepared by heating mercury in

chloride

B. It reduces stannic chloride

C. it oxidises stannous chloride

D. It sublimes readily

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7JR7mRXD6IM5

180. Nessler's reagent is :

A-Hg*
B. Hg**
C.Hgl;~

D. HgI;~

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7JR7mRXD6IM5
https://dl.doubtnut.com/l/_X5oVs2v2b31f

181. Calomal is :

A. Hg,Cly and Hg

C.Hg + HgCl,

D. Hggolz

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7wSpMFBRPOXU

182. Cinnabar is an ore of :

A. Lead

B. Zinc

C. Silver

D. Mercury

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_MOVylGDayWTs

183. The colour of solution obtained by adding

excess of Kl in the solution of HgCl, is :

A. Orange

B. Brown

C.Red

D. Colourless

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_zdb7kLoL1muh
https://dl.doubtnut.com/l/_QnSUU3BVSwNS

184. From an aqueous solution of zinc
sulphate , normal zinc carbonate may be

precipitated by :

o Watch Video Solution

185. The substance that sublimes on heating is

A. MgClz

B. AgCl


https://dl.doubtnut.com/l/_QnSUU3BVSwNS
https://dl.doubtnut.com/l/_rZXSt4qOFfwx

D. NaCl

Answer: C

° Watch Video Solution

186. Calamine is :

A. ZnSOy

B. Z’I’LCOg

C. ZnO

D. CCLCOg


https://dl.doubtnut.com/l/_rZXSt4qOFfwx
https://dl.doubtnut.com/l/_ulvpBL87x1SD

Answer: B

° Watch Video Solution

187. Mercury is transpored in metal containers

made of :

A. Silver

B. Lead

C.lron

D. Alumium


https://dl.doubtnut.com/l/_ulvpBL87x1SD
https://dl.doubtnut.com/l/_CFG97eYQnFlh

Answer: C

o Watch Video Solution

188. Sulphide ore of zinc is concentrated by :

A. Floatation process

B. Electromagnetic process

C. Gravity process

D. Distillation

Answer: A


https://dl.doubtnut.com/l/_CFG97eYQnFlh
https://dl.doubtnut.com/l/_uNXSZozMYdDo

° Watch Video Solution

189. Zn cannot displace ion from the

aqueous solution:

A Ag™
B.Cu?t
C.Fe?™

D.Na™

Answer: D

r. |



https://dl.doubtnut.com/l/_uNXSZozMYdDo
https://dl.doubtnut.com/l/_gbhOF7WY7Atm

{ ™ vvaldll vidcO S5O1Utiorn

190. Nessler's reagent is :

A KHgl,

B. K, Hgl,

C. KyHgl, + NaOH

D. KHgl, + NaOH

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gbhOF7WY7Atm
https://dl.doubtnut.com/l/_uKZsvSsGwEA1
https://dl.doubtnut.com/l/_ZbgjUaA96B25

191. Rinman.s green is :

A.Zn0.CoO

B. A green pigment

C.Both (a) and (b)

D. None

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZbgjUaA96B25

192. Calomel reacts with ammonium hydroxide

to form :

A. Hg(NH,)Cl
B.HON — Hg— Hg — CI

D. Hgo

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_JYF4NXYXKdpG
https://dl.doubtnut.com/l/_TU9hnKoKIl5t

193. Mercury forms amalgams with all except :

A Al

B.Zn

C. Ni

D. Fe

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TU9hnKoKIl5t

194. Which statement about group 12
elements is wrong ?
A. Zinc forms an alloy with copper
B. anjL is stable
C. Mercury gives compounds with +1 and
+2 Valencies

D. Hg is aliquid element

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bAbiCjg5AIBj

195. Which metal cation

complex salt ?

A Zn?™
B.Cd**
C.Hg*™"

D. All of same strength

Answer: C

forms stronger

° Watch Video Solution



https://dl.doubtnut.com/l/_bAbiCjg5AIBj
https://dl.doubtnut.com/l/_svaQugbYvJ3C
https://dl.doubtnut.com/l/_lCkYDTfNXHhT

196. A metal gives two chlorides A and B. A
gives black precipitate with NH;OH and B
gives white. With KI, B gives a red precipitate
soluble in excess of KI. Aand B are
respectively:

A. HgClQ and HgQClg

B. Hg,Cly and HgCl,

C. HgCl5 and ZnCl,

D. Z’)’LClz and HgClg

Answer: B


https://dl.doubtnut.com/l/_lCkYDTfNXHhT

° Watch Video Solution

197. Mercury is purified by :

A. Solidifying

B. Distillation in vaccum

C. Treatment with diL HNO;

D. Electrolytic method

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lCkYDTfNXHhT
https://dl.doubtnut.com/l/_C3QFDVYh0pry

198. The calomel present in an electrode is :

A . Hg,Cly, + Hg

C.Hg+ HgCl

D. HgCl2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TeI7OgGokS9p

199. An element which is highly toxic for plants

and animals is ?

A. Au

B. Mn

C.Hg

D. Ca

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kQWriddT8Gwf
https://dl.doubtnut.com/l/_dPdcFtbtQOqw

200. Zinc sulphate is known as :

A. Zinc blende

B. White vitriol

C. Blue vitriol

D. Calamine

Answer: B

o Watch Video Solution

201. Lithopone , a white pigment , consists of :


https://dl.doubtnut.com/l/_dPdcFtbtQOqw
https://dl.doubtnut.com/l/_kTetaI1SjK9e

A. Al,O3 and CaCOsg

B. BaS and PbS0O,

C.ZnS and BaSO,

D. PbS and Mgo

Answer: C

o Watch Video Solution

202. The lowest degree of paramagnetism per
mol of the compound in the following will be

shown by :


https://dl.doubtnut.com/l/_kTetaI1SjK9e
https://dl.doubtnut.com/l/_4UwGVXiW2vpP

B. Z’I’LSO4 . 7H20

C. F@SO4 . 7H20

D. NiSO, - 6H50

Answer: B

o Watch Video Solution

203. Zinc oxide is :

A. A basic oxide


https://dl.doubtnut.com/l/_4UwGVXiW2vpP
https://dl.doubtnut.com/l/_k1dEjfR4GEe7

B. An acidic oxide

C. A neutral oxide

D. An amphoteric oxide

Answer: D

o Watch Video Solution

204. A compound is yellow when hot and white

when cold. The compound is :

A. Al,O4


https://dl.doubtnut.com/l/_k1dEjfR4GEe7
https://dl.doubtnut.com/l/_ePZiC32cUKm5

B. PbO

C.Cao

D.ZnO

Answer: D

° Watch Video Solution

205. In the reaction

SnC’l2 + 2HgCl2 — A+ S’I’LCZ4 JAIS :

A. HgClg


https://dl.doubtnut.com/l/_ePZiC32cUKm5
https://dl.doubtnut.com/l/_x6oMW84eksAe

B.Hg

C. HgCl

D. HgClg

Answer: A

° Watch Video Solution

206. The colour of zinc sulphide is :

A. Yellow

B. White


https://dl.doubtnut.com/l/_x6oMW84eksAe
https://dl.doubtnut.com/l/_GGTbCbR4aqjS

C. Brown

D. Black

Answer: B

° Watch Video Solution

207. The metal which liberates hydrogen from

hot NaOH solution is :

A.Zn

B. Cu


https://dl.doubtnut.com/l/_GGTbCbR4aqjS
https://dl.doubtnut.com/l/_pQyFiTjppQlJ

D. Fe

Answer: A

° Watch Video Solution

208. In the reaction

HqgCly +2KI1 — M + 2KCIl,Mis :

B. KgHglg


https://dl.doubtnut.com/l/_pQyFiTjppQlJ
https://dl.doubtnut.com/l/_ICd6y9NDqi8I

C. K,Hgl,

D. KHgl;

Answer: C

° Watch Video Solution

209. Which compound cannot be prepared ?

A. Zn(OH),
B.Cd(OH),

C. Hg(OH),


https://dl.doubtnut.com/l/_ICd6y9NDqi8I
https://dl.doubtnut.com/l/_NtUeQIdzOAij

Answer: C

o Watch Video Solution

210. Black Hgs:

A. Dissolves in cone . Hcl on boiling

B. Dissolves in boiling HCL + a crystal of

KCIlO;

C. Dissolves in NaOH


https://dl.doubtnut.com/l/_NtUeQIdzOAij
https://dl.doubtnut.com/l/_kcZXB9cd3nTb

D. None

Answer: B

o Watch Video Solution

211. Which is known as Philospher.s wool ?

A. HgO

B.CdO

C.BaO

D.ZnO


https://dl.doubtnut.com/l/_kcZXB9cd3nTb
https://dl.doubtnut.com/l/_izriS1GAUFPQ

Answer: D

° Watch Video Solution

212. Which compound is deliquescent ?

A. Hgg Cl2

C. ZnCl2

D. CdCl,

Answer: C


https://dl.doubtnut.com/l/_izriS1GAUFPQ
https://dl.doubtnut.com/l/_9J302vAhAfEE

o Watch Video Solution

213. Zinc white is a better white pigment than

lead because it :

A.Has more covering power than lead

white

B. Is not blackened by the action of HyS

C.Is soluble in water

D. Becomes yellow when heated



https://dl.doubtnut.com/l/_9J302vAhAfEE
https://dl.doubtnut.com/l/_daR9ebiXoZvU

Answer: B

° Watch Video Solution

214. An important Zn ore is :

A. Calamine

B. Pitch blende

C. Cryolite

D. None

Answer: A


https://dl.doubtnut.com/l/_daR9ebiXoZvU
https://dl.doubtnut.com/l/_Kc49LWSk3wml

° Watch Video Solution

215. Chemical name of vermilion is :

A. Mercuric sulphide

B. Mercurous sulphide

C. Zinc sulphide

D. Cadmium sulphide

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Kc49LWSk3wml
https://dl.doubtnut.com/l/_1hybuhm9e7iV

216. ZnS containing minute traces of MnS

becomes :

A. Deliquescent

B. Phosphorescent

C. Hydroscopic

D. None

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ywV8Nt4E37qG
https://dl.doubtnut.com/l/_Ja6cAAPo00Ug

217. Mercury tree can be prepared :

A.By mixing up mercuric thicyanate and

gum

B.By adding Nesslers reagent to a

ammonium salt solution

C.By pouring little mercury into AgNNO;

solution

D. By heating mercuric chloride

Answer: C

l o Watch Video Solution


https://dl.doubtnut.com/l/_Ja6cAAPo00Ug

218. The pair of metals which dissolves in

NaOH(aq) is :

A Al, Cu

B.Zn, Cd

C.Pb,Sn

D.Zn, Al

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Ja6cAAPo00Ug
https://dl.doubtnut.com/l/_CDqlDTw3x6dA

219. Which compound is used as a purgative in

medicine?

A. HgClQ

B. HgQClz

C. Cudl

D. C&Clz

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_CDqlDTw3x6dA
https://dl.doubtnut.com/l/_pdKtihVD4Wix

220. Thermal decomposition of zinc nitrate

gives:

A.Zn
B.ZnO
C. Zn(NO2)2

D.NO

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_I15fls0qveWp
https://dl.doubtnut.com/l/_kCCF1POjUCLq

221. Which of the following is poison?

A. NaCl

B. BaSO,

D. NaH003

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kCCF1POjUCLq

222. The compound widely used in making

reference electrode is:

B. C’LLSO4

C. Hg20l2

D. HgCl2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pte2C9qqdCcy
https://dl.doubtnut.com/l/_0MRb3mWcNdqa

223. The formula of mercurous ion is:

A-Hg*
BH92
C.Hg; +

D. None

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0MRb3mWcNdqa

224. A scarlet red precipitate is obtained on

treating mercuric chloride solution with:

A.H,S

B. K

C.NaOH

D. NH,OH

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6eRb5uEVwxc4
https://dl.doubtnut.com/l/_7WCm3wFaNv1i

225. The formula of zinc chloride

ammonia is:

A. |Zn(NHs3),|Cl

B. (NH,),Zn0,

C. |Zn(NHj),|

D. [Zn(NHs)g)

Answer: C

Cl,

Cl,

with

o Watch Video Solution



https://dl.doubtnut.com/l/_7WCm3wFaNv1i

226. If NaOH is added to an aqueous solution
of Zn®" ions, a white precipitate appears and
on adding access NaOH, the precipitate
dissolves. In this solution zinc exists in the:

A. Cationic part

B. Anionic part

C. Both (a) and (b)

D. None

Answer: B

l o Watch Video Solution


https://dl.doubtnut.com/l/_Zq5vKicAmyVw

227. When Zn reacts with very dilute nitric acid

it produces:

A.NO

B. NH,NO,

C.NO,

D. H,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Zq5vKicAmyVw
https://dl.doubtnut.com/l/_ycigdvow1KX4

228. Which statement about Hg is correct?

A. Hg is the only liquid metal
B. Hg” + salts are more stable than Hg,"
saltsHg forms no amalgam with iron and

platinum All

Answer: D

I a Watch Video Solution


https://dl.doubtnut.com/l/_ycigdvow1KX4
https://dl.doubtnut.com/l/_FDNztrPPrNIK

229. The metal present in insulin is:

A. Cu

B. Fe

C.Zn

D. Mg

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FDNztrPPrNIK
https://dl.doubtnut.com/l/_s2LumbiaVOqF
https://dl.doubtnut.com/l/_ULeNlSmJsPoW

230. HgCll, is reduced to Hg,Cl5 by:

A.CH,;COOH

B.CCly

C. HCOOH

D. NH,

Answer: C

o Watch Video Solution

231. The volatile metal is :


https://dl.doubtnut.com/l/_ULeNlSmJsPoW
https://dl.doubtnut.com/l/_IBCzEpEGoxt9

A. Cu, Ag, Au

B. Zn,Cd,Hg

C.CPb

D. FE,Co,Ni

Answer: B

o Watch Video Solution

232. Volatile metals are purified by:

A. Liquation


https://dl.doubtnut.com/l/_IBCzEpEGoxt9
https://dl.doubtnut.com/l/_1I2ybXaqBapw

B. Distillation

C. Cupellation

D. Electrolysis

Answer: B

0 Watch Video Solution

233. lodide of Million's base is:

A. Ky Hgl,]

Hx<""'
B. ® O—Hg—I


https://dl.doubtnut.com/l/_1I2ybXaqBapw
https://dl.doubtnut.com/l/_KhK2G5wDLzEp

C. HggO . NHQOH] . HQO

D. Hg(NH,)I + Hg

Answer: B

° Watch Video Solution

234. Cosmetic powders contain:

A. Z’I’LClg

B.ZnO

C. Z’I’LCO3


https://dl.doubtnut.com/l/_KhK2G5wDLzEp
https://dl.doubtnut.com/l/_kCSUpfyquyA6

D. Z’I’LSO4

Answer: B

° Watch Video Solution

235. Substance used in glazing pottery is:

A. ZnO

B. Z’I’LClg

C. Alum

D. Calomel


https://dl.doubtnut.com/l/_kCSUpfyquyA6
https://dl.doubtnut.com/l/_qJGTTXtyjrlr

Answer: A

° Watch Video Solution

236. Which of the following metals is used in

dry cells?

A. Ni

B.Zn

C.Fe

D. Co



https://dl.doubtnut.com/l/_qJGTTXtyjrlr
https://dl.doubtnut.com/l/_byljxHqqJBmN

Answer: B

° Watch Video Solution

237. Which of the following is used for

sterilization of surgical instruments?

A. HgCl2

B. Z’I’LClz

C. Hg20l2

D. ZnO


https://dl.doubtnut.com/l/_byljxHqqJBmN
https://dl.doubtnut.com/l/_j4w2r7geOuul

Answer: A

° Watch Video Solution

238. Which gives off oxygen on moderate

heating:

A. Zinc Oxide

B. Mercuric Oxide

C. Aluminium Oxide

D. Ferric oxide


https://dl.doubtnut.com/l/_j4w2r7geOuul
https://dl.doubtnut.com/l/_cTP2HmWCvlJD

Answer: B

o Watch Video Solution

239. Acidic nature of Zn(OH), is shown from
the formation of the following compound with
the formula:

A. N(ng’nOg

B. NCLQCO?,

C. NCLZTLOQ

D. None


https://dl.doubtnut.com/l/_cTP2HmWCvlJD
https://dl.doubtnut.com/l/_mfQ5uEeKyE89

Answer: A

° Watch Video Solution

240. White vitriol is:

A.CuSOy - 5bH,0

B. FBSO4 . 7H20

D. none

Answer: C


https://dl.doubtnut.com/l/_mfQ5uEeKyE89
https://dl.doubtnut.com/l/_7V9Vv3aIj4bA

o Watch Video Solution

241. Various methods have been employed for
protecting iron from rusting. Which of the
following is incorrect:
A.Zinc plating is more permament than
chrome plating
B.Zinc protects iron but gets corroded
itself

C.Tin plating is cheap but unrealiable


https://dl.doubtnut.com/l/_7V9Vv3aIj4bA
https://dl.doubtnut.com/l/_uRp3o5Pk34ay

D. None

Answer: B

° Watch Video Solution

242. Which sulphide has a yellow colour?

A. CuS

B. PbS

C.ZnS

D. CdS


https://dl.doubtnut.com/l/_uRp3o5Pk34ay
https://dl.doubtnut.com/l/_XwBzJf5st1A6

Answer: D

° Watch Video Solution

243. Philosopher's wool when heated with BaO

at 1100° C gives the compound:

A. BCLZ’I’LOz

B.Ba + Zn0O2

C. BaCd02

D. BaO3 + Zn


https://dl.doubtnut.com/l/_XwBzJf5st1A6
https://dl.doubtnut.com/l/_SjKU9jGQ6VcM

Answer: A

° Watch Video Solution

244. Acidic nature of Zn(OH,) is shown
during its reaction with:

A. NaOH

B. HCI

C. H2504

D. None



https://dl.doubtnut.com/l/_SjKU9jGQ6VcM
https://dl.doubtnut.com/l/_9sWWq5ot5e9A

Answer: A

° Watch Video Solution

245. Which metal sulphide is not black?

A. NiS

B. CoS

C.CuS

D. ZnS

Answer: D


https://dl.doubtnut.com/l/_9sWWq5ot5e9A
https://dl.doubtnut.com/l/_MeM5JMftAt3j

o Watch Video Solution

246. When iron or zinc is added to CuSO,
solution, copper is precipitated. It is due to,

A. Hydrolysis of CuSO,

B. Oxidation of Cu® +

C. Reduction of Cu? +

D. lonisation of CuSO,

Answer: C

r. e l



https://dl.doubtnut.com/l/_MeM5JMftAt3j
https://dl.doubtnut.com/l/_IgpdG38twrTK

{ ™ vvaldll vidcO S5O1Utiorn |

247. The metal that does not displace

hydrogen from an acid is:

A. Hg is the only liquid metal

B.Zn

C. Al

D. Calomel

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IgpdG38twrTK
https://dl.doubtnut.com/l/_FmQ5bHUBqk1J

248. A yellow ppt, is formed when H5S is

passed through an acidified solution of:

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FmQ5bHUBqk1J
https://dl.doubtnut.com/l/_b10Nc8zo4lt6

249. Complete dissociation of ZnCl, gives:

A.3 ions

B. 5 ions

C.4 ions

D. 2 ions

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_75mvdRGttSyD

250. Galvanised iron is rust proof due to the

electroplating of iron with:

A.Zn

B. Ni

C.Cr

D. Sn

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6B09mBPcZB7j
https://dl.doubtnut.com/l/_gkBO8HFJL3X6

251. Which of the following is coated over iron

articles to protect iron from corrosion?

A. Paint

B. Zinc metal

C. Tin metal

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gkBO8HFJL3X6

252. Cadmipone is a mixture of:

A. CdS and BaSO,

B. CaS and Bas

C.CaS and ZnSO,

D. CaSO, and ZnS

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2TSQD6BjZfII

253. Zinc oxide is used in:

A. Paper bleaching

B. White paint

C. Black glasses

D. Soaps

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7E2QZsm8ygJg

254, The valency of mercuric ion is:

A. One

B. Two

C. Four

D. All

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_UFv25nh7Qd1a

255. Zn(OH), is:

A. Amphoteric
B. Monobasic
C. Dibasic

D. None

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_H8Skas851k7X

256. Which reacts with both HCl and NaOH?

A. CaO

B.CO,

C. N,Ox

D. ZnO

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ut6yfO7d5rec

257. Silver, mercury and lead have been placed

in same group of qualitative analysis, because

they form:

A. Carbonates soluble in dilute HNOs

B. Nitrates

C. Insolule chlorides

D. Same tyoe of coloured compounds

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ow6Aw7znmwj8

258. Which metal is commonly used for
galvanising iron?

A Cr

B.Zn

C.cd

D. Sn

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VPX1Q7zaLPkV
https://dl.doubtnut.com/l/_IV22975l7HQY

259. Zn and Cd do not show variable valency,

because:

A.They have only two electrons in

outermost subshell

B. Their d-subshells are complete

C. They are relatively soft metals

D. They are inert

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IV22975l7HQY
https://dl.doubtnut.com/l/_9irmonVnkcQJ

260. Which sulphide is not precipitated in acid

solution?

A. CuS

B.SnS

C. PbS

D. ZnS

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9irmonVnkcQJ
https://dl.doubtnut.com/l/_41vkERWMEq5w

261. To prevent corrosion, iron pipes carrying

drinking water are coated with zinc. The

process involved is:

A. Alloy formation

B. Electroplating

C. Galvanising

D. Soldering

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_41vkERWMEq5w
https://dl.doubtnut.com/l/_84CptlxPe4rw

262. Which does not give a precipitate with

excess of NaOH?

B. HgNO3

C. F6504

D. ZnSO,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_84CptlxPe4rw

263. The one which has lowest ox. No. of Hg?

A.Hg(NO,),
C. Hg(N03)2

D. Hg 2Cl 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_d9bKmSenLFmR

264. Which metal loses meniscus on exposure

to ozone?

A. Mg

B.Zn

C.Hg

D. Cu

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nwy1OqrixEAS
https://dl.doubtnut.com/l/_g6C8OjxHtd66

265. Ozone can be detected using:

A Ag

C. AgCl

D. NacCl

Answer: B

o Watch Video Solution

266. A reagent that can separate Fe from Zn is,


https://dl.doubtnut.com/l/_g6C8OjxHtd66
https://dl.doubtnut.com/l/_u9LA30ShxOv1

A. NaOH

B. HCI

C. H3S

D. NGNOQ

Answer: A

° Watch Video Solution

267. Colourless transition metal ion is:

A Zn2t


https://dl.doubtnut.com/l/_u9LA30ShxOv1
https://dl.doubtnut.com/l/_twX3UgPbIKEj

B.Cu™

C.T#™

D. All

Answer: D

o Watch Video Solution

268. Which of the following is correct?

A. Calomel is mercuric chloride

B. Calomel is widely used as an antiseptic


https://dl.doubtnut.com/l/_twX3UgPbIKEj
https://dl.doubtnut.com/l/_OTvjPbMaVcjN

C. Calomel is used medically as purgative

D. Calomel is freely soluble in water

Answer: C

° Watch Video Solution

269. Cast iron is manufactured by remelting:

A. Pig iron and pouring into moulds

B. Steel and pouring into moulds

C. Wrought iron and pouring into moulds


https://dl.doubtnut.com/l/_OTvjPbMaVcjN
https://dl.doubtnut.com/l/_oWAeJ82krJkY

D. None of these

Answer: A

o Watch Video Solution

270. Which metal is used for filament of

electric bulb?

A. Pt

B. Fe

C.W


https://dl.doubtnut.com/l/_oWAeJ82krJkY
https://dl.doubtnut.com/l/_8iKmyYCV7cAn

D. Cu

Answer: C

° Watch Video Solution

271. Bessemer convergter is used in the

manufacture of

A. Cast iron

B. Pig iron

C. Steel


https://dl.doubtnut.com/l/_8iKmyYCV7cAn
https://dl.doubtnut.com/l/_jVej67ExazSO

D. Wrought iron

Answer: C

o Watch Video Solution

272. Anydrous ferric chloride is prepared by:

A. Dissolving ferric hydroxide in dil. HC

B. Dissolving ferric hydroxide in conc. HCI

C.Passing dry chlorine gas over heated

scrap iron


https://dl.doubtnut.com/l/_jVej67ExazSO
https://dl.doubtnut.com/l/_gpgRXH8yOTBp

D. Passing dry HCl gas over heated scrap

iron

Answer: C

° Watch Video Solution

273. One of the important uses of ferrous

sulphate is in the:

A. Manufacture of blue-black ink

B. Manufacture of chalks


https://dl.doubtnut.com/l/_gpgRXH8yOTBp
https://dl.doubtnut.com/l/_ccNz2Ph5wkp8

C. Preparation of hydrogen sulphide

D. Preparation of sulphur dioxide

Answer: A

° Watch Video Solution

274. Blood red colour solution is produced

when ferric chloride solution is treated with:

A.KCN

B. KSCN


https://dl.doubtnut.com/l/_ccNz2Ph5wkp8
https://dl.doubtnut.com/l/_9da4xfSU9W1L

C. KCNO

D. K3 |Fe(CN),|

Answer: B

° Watch Video Solution

275. The group of metals which is known as

ferrous metals is:

A. Fe,Co,Ni

B. Ru,Rh,Pd


https://dl.doubtnut.com/l/_9da4xfSU9W1L
https://dl.doubtnut.com/l/_MeEaAlzP6HY1

C. Os,Ir,Pt

D. Cr,Mn,Cu

Answer: A

° Watch Video Solution

276. Which group of metals is known as Pt-

metals?

A. Fe,Co,Ni

B. Ag,Au,Cu


https://dl.doubtnut.com/l/_MeEaAlzP6HY1
https://dl.doubtnut.com/l/_BkxfIZyLCvTv

C.Zn,Cd,Hg

D. Ru,Rh,Pd

Answer: D

° Watch Video Solution

277. Which is used for stopping bleeding?

A. Ferric chloride

B. Mohr.s salt

C. Green vitriol


https://dl.doubtnut.com/l/_BkxfIZyLCvTv
https://dl.doubtnut.com/l/_lXkBemE4tFwI

D. Sodium nitroprusside

Answer: A

o Watch Video Solution

278. Which is formed when iron reacts with

carbon?

A. F€C2

B. FegC

C. FGC?,


https://dl.doubtnut.com/l/_lXkBemE4tFwI
https://dl.doubtnut.com/l/_w6MeOo2JnubG

D. FBzC

Answer: B

o Watch Video Solution

279. Which will reduce acidified potassium

dichromate solution?

A. Potash alum

B. Mohr's salt

C. Chile saltpetre


https://dl.doubtnut.com/l/_w6MeOo2JnubG
https://dl.doubtnut.com/l/_xDIR2AJj9p6n

D. White vitriol

Answer: B

o Watch Video Solution

280. Which one of the following does not

decolourise an acidified K MnQ, solution?

A. 50,

B. F60l3

C. H,O,


https://dl.doubtnut.com/l/_xDIR2AJj9p6n
https://dl.doubtnut.com/l/_v8HqtvzfTQ7e

D. F'eSO,

Answer: B

o Watch Video Solution

281. Ferrous sulphate forms Turnbulls blue

with:

° Watch Video Solution

282. The first man-made atom is:


https://dl.doubtnut.com/l/_v8HqtvzfTQ7e
https://dl.doubtnut.com/l/_DEAJT9iaFH5x
https://dl.doubtnut.com/l/_AFvcyPRUwhUp

A. Os

B. Na

C.Zr

D. Tc

Answer: D

° Watch Video Solution

283. The variety of iron having highest melting

point is:


https://dl.doubtnut.com/l/_AFvcyPRUwhUp
https://dl.doubtnut.com/l/_VYHTw0ikKtBW

A. Pig iron

B. Cast iron

C. Wrought iron

D. Steel

Answer: C

o Watch Video Solution

284. Blueprint papers have a coating of:


https://dl.doubtnut.com/l/_VYHTw0ikKtBW
https://dl.doubtnut.com/l/_yvq0pTpvmoVf

A. Mixture of potassium ferricyanide and

ammonium ferric citrate

B. Sodium nitroprusside

C. Prussian blue

D. None

Answer: A

o Watch Video Solution

285. The impurity of sulphur makes the iron:


https://dl.doubtnut.com/l/_yvq0pTpvmoVf
https://dl.doubtnut.com/l/_Y5FnLvQVlfF9

A. fibrous

B. Red short

C. Cold short

D. Malleable

Answer: B

o Watch Video Solution

286. The axles are made by heating rods of
iron embedded in charcoal powder. This

process is known as:


https://dl.doubtnut.com/l/_Y5FnLvQVlfF9
https://dl.doubtnut.com/l/_GUvUsPn8Zlu1

° Watch Video Solution

287. Red hot steel rod on suddenly immersing

in water becomes.

A. Soft and malleable

B. Hard and brittle

C. Tough and ductlile

D. Fibrous

Answer: B

l ﬂ Watch Video Solution ]


https://dl.doubtnut.com/l/_GUvUsPn8Zlu1
https://dl.doubtnut.com/l/_BWIwsK6o64Jt

288. When steel is heated red hot and then

slowly cooled, the process is known as:

A. Annealing

B. Hardening

C. Tempering

D. Nitriding

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BWIwsK6o64Jt
https://dl.doubtnut.com/l/_LNgW2MPPD65D

289. The process of nitriding used in the

treatment of steel is :

A.O

B. Ny

C. NH,

D.CO,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_LNgW2MPPD65D
https://dl.doubtnut.com/l/_Q7faIT92FJFt

290. The process of heating of steel to

temperature much below redness and then

slowly cooling is called:

A. Reduction zone

B. Slag zone

C. Combustion zone

D. Fusion zone

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_X4dNawM3OqH7

291. The process of heating of steel to

temperature much below redness and then

slowly cooling is called:

A. Annealing

B. Hardening

C. Tempering

D. Case hardening

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_H9tZI28m7sdP

292. Rust is a mixture of :

A. F6203 . CL‘HQO

B. FeO - H,0

C. Fe3Oy - xH50

D. F€203

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_apSZ3gO5B0xM

293. The common oxidation state of the

elements of lanthanide series is:

A +2

B.+3

C.+4

D.+1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5RHUVyRHkBWm
https://dl.doubtnut.com/l/_8QvTQoWjNcBl

294. The tampering of steel makes it:

A. Hard

B. Soft

C. Heavy

D. Brittle

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_8QvTQoWjNcBl

295. The element which acts as a good catalyst

for several reactions has atomic number:

A.16

B. 20

C. 28

D. 37

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1MgGlluTyb48
https://dl.doubtnut.com/l/_Si4iLJksD4sl

296. Which one of the elements is a d-block

element?

A. As

B. Pt

C.Pb

D. Ra

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Si4iLJksD4sl

297. Mn>t ion is:

A. Diamagnetic

B. Pamagnetic

C. Colourless

D. None

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oq33zAXlIOn3

298. The element which forms a coloured

chloride is:

A. Sb

B. Na

C.Zn

D.Cr

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KsWhn4vRgRA8
https://dl.doubtnut.com/l/_r1MuC3XkGUoQ

299. The elements which exhibit both vertical

and horizontal similarities are:

A. Inert gas elements

B. Representative elements

C. Rare Elements

D. Transition elements

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_r1MuC3XkGUoQ

300. Variable valency is a general feature of

elements:

A. s-block

B. p-block

C.d - block

D. All

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wKJkrAyqLHvz
https://dl.doubtnut.com/l/_BserkF9F7bQI

301. Which ion is not coloured:

A Cu™t

B.Cr2t

C.Co*™

D.Cr3™

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BserkF9F7bQI

302. The smelting of iron in a blas furnace

involves all the steps except:

A. Combustion

B. Reduction

C. Slag formation

D. All

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TQMtk4e23qiG
https://dl.doubtnut.com/l/_YCsQj6EmJmqC

303. Which ion in aqueous medium has orange

colour?

A. C’l"zOg_
B.Cr3+
C. MnO,

D. MnOi_

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YCsQj6EmJmqC

304. Acidified potassium permanganate

solution is decolourised by

A. White vitriol

B. Bleaching powder

C. Laughing gas

D. Mohr.s salt

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_UGC5rVCzr85k
https://dl.doubtnut.com/l/_NZYHuWUC7g17

305. Mohr's salt is a:

A. Normal salt

B. Acid Salt

C. Basic Salt

D. Double salt

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NZYHuWUC7g17

306. The iron obtained from the blast furnace

is called as

A. Pig iron

B. Cast iron

C. Wrought iron

D. Steel

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dX8VjWOegCXG
https://dl.doubtnut.com/l/_rbCewdUbnX1r

307. The brown ring complex compound is
formulated as |Fe(H,0),(NO)|SO,. The
oxidation state of iron is:

A +1

B.+2

C.+3

D. 44

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rbCewdUbnX1r
https://dl.doubtnut.com/l/_8QuQHjqFKJ3L

308. The crystals of ferrous

heating give:

A. 503

B. SO,

C. F6203

D. All

Answer: D

sulphate on

O Watch Video Solution



https://dl.doubtnut.com/l/_8QuQHjqFKJ3L

309. Which of the following statements is not

true for Mohr.s salt?

A. It decolourises K MnQ, solution

B. It is a double salt

C. Oxidation state of iron is + 3

D. It is a primary standard

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_V9RKBiFo2wlR
https://dl.doubtnut.com/l/_ohZpksPstq6X

310. Permanent magnet is made from:

A. Cast iron

B. Steel

C. Wrought iron

D. All of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ohZpksPstq6X

311. Which of the following is the IUPAC name
of Ky |Fe(CN)4 ?

A. Potassium fenicyanide

B. Potassium ferrocyanide

C. Potassium hexacyanoferrate(ll)

D. Potassium hexacyanoferrate(lll)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gCTUUHVlF80l
https://dl.doubtnut.com/l/_TKy5BAJj5fb2

312. Ferric sulphate on heating gives:

A. SO2 and SOg

B. SO3 only

C. 503 only

D.S only

Answer: C

o Watch Video Solution

313. KMnQO,4 on heating above 200 o C' gives:


https://dl.doubtnut.com/l/_TKy5BAJj5fb2
https://dl.doubtnut.com/l/_WqSuPNM0kreo

A. KgM’I’LOg + 02 + M’I’LO2

B. KQM’I’LO4 + Mn02 + 02

C. M’I’LOQ -+ 02

D. None

Answer: A

o Watch Video Solution

314. The rusting of iron is catalysed by:

A Fe


https://dl.doubtnut.com/l/_WqSuPNM0kreo
https://dl.doubtnut.com/l/_zpI3CDB5qqNX

B. O,

C.Zn

Answer: D

° Watch Video Solution

315. Spiegeleisen is an alloy of:

A.Fe,Mn and C

B. Fe and Mn


https://dl.doubtnut.com/l/_zpI3CDB5qqNX
https://dl.doubtnut.com/l/_pYC3mSdysH1q

C.Fe,Mn and Cr

D. Fe and Cr

Answer: B

° Watch Video Solution

316. As percentage of carbon increases in iron,

its hardness,

A. Decreases

B. Increases


https://dl.doubtnut.com/l/_pYC3mSdysH1q
https://dl.doubtnut.com/l/_zxF14kdQb37Y

C. Remains same

D. None

Answer: B

° Watch Video Solution

317. Pudding process is wused in the

manufacture of:

A. Steel

B. Cast-iron


https://dl.doubtnut.com/l/_zxF14kdQb37Y
https://dl.doubtnut.com/l/_msMATrR9udhs

C. Wrought iron

D. Pig iron

Answer: C

° Watch Video Solution

318. Transition elements are:

A. All metals

B. All non-metals

C. Metals and non-metals


https://dl.doubtnut.com/l/_msMATrR9udhs
https://dl.doubtnut.com/l/_s3FzbcsArZwM

D. Gases

Answer: A

° Watch Video Solution

319. Which is not a transition metal?

A. Sc

B.V

C.Sb

D. Co


https://dl.doubtnut.com/l/_s3FzbcsArZwM
https://dl.doubtnut.com/l/_erws3hNQiAvG

Answer: C

° Watch Video Solution

320. Chromium is used in making:

A. Bronze

B. Brass

C. Stainless steel

D. Electrodes

Answer: C


https://dl.doubtnut.com/l/_erws3hNQiAvG
https://dl.doubtnut.com/l/_UcwLD3gFSRtd

° Watch Video Solution

321. The element present in gun metal is:

A. Cu

B. Co

C.Ti

D. Sc

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_UcwLD3gFSRtd
https://dl.doubtnut.com/l/_9WsCWa9OxTc8

322. Which metal is ferromagnetic?

A. Cr

B. Fe

C.Zn

D. Al

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_RIn2m2VaMWsA

323. The transition element with least atomic

number is:

A. Zr

B. Sc

C.Os

D. Pt

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7Cbp5eXrxCHI
https://dl.doubtnut.com/l/_6uCTluPsJ5o6

324. Which is less reactive?

A. Fe

B. Ni

C. Pt

D. Co

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6uCTluPsJ5o6

325. The transition metal present in vitamin

B12 is:

A. Fe

B. Co

C. Ni

D. Na

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FPO51ltDWuQw
https://dl.doubtnut.com/l/_3b9Drb8qnLRX

326. Number of electrons present in the

outermost orbit of Fe atom is:

A3

B.1

C.2

D.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3b9Drb8qnLRX

327. The most correct statement for transition

metals is:

A. They possess low b.pt

B. They exhibit inert pair effect

C. They exhibit variable oxidation states

D. They do not possess catalytic property

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1EkULcCbJytE
https://dl.doubtnut.com/l/_NFPxJ535QRrv

328. The tendency to show complex formation

IS maximum in:

A. s-block elements

B. p-block elements

C. d-block elements

D. f-block elements

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NFPxJ535QRrv

329. Maximum number of oxidation states of

the transition metals is derived from the

following configuration:

A. ns electrons

B. (n-1)d electrons

C. (n+1)d electrons

D. ns + (n-1)d electrons

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_s6h5JSxYOk3W

330. Which is not correct for transition

metals?

A. Variable oxidation states

B. Complex formation

C. Partially filled d-orbitals

D. All the ions are colourless

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nQABKri9WEqX
https://dl.doubtnut.com/l/_PQ7afKN7nEh5

331. Transition elements form complexes

because of:

A. Small cation size

B. Vacant d-orbitals

C. Large ionic charge

D. All are correct

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PQ7afKN7nEh5

332. Fe?+ ion can be distinguished by

Fe® + ion by:

o Watch Video Solution

333. The elements present in human blood is:

A. Fe
B. Ra
C.Co

D. All


https://dl.doubtnut.com/l/_ARxQik4TvrSO
https://dl.doubtnut.com/l/_bkHamWBmbsXJ

Answer: A

° Watch Video Solution

334. d-block elements of periodic table

consists of

A. Three series

B. Six series

C. Two series

D. Four series


https://dl.doubtnut.com/l/_bkHamWBmbsXJ
https://dl.doubtnut.com/l/_8Q5bFgxHHtlH

Answer: D

° Watch Video Solution

335. Which oxide of Mn is acidic in nature?

A. MnO

B. Mn207

C. Mn203

D. M’I’LOQ

Answer: B


https://dl.doubtnut.com/l/_8Q5bFgxHHtlH
https://dl.doubtnut.com/l/_xQKIJsgiFI0K

° Watch Video Solution

336. The element showing oxidation states of

+2,+3,+4,+6 and +7 is:

A.Cr

B. Mn

C.Co

D.V

Answer: B

l ﬂ Watch Video Solution ]


https://dl.doubtnut.com/l/_xQKIJsgiFI0K
https://dl.doubtnut.com/l/_1WAY4cXlQA5N

337. When steam is passed over red hot iron,

the products formed are

A. FeO

B. F€203

C. F6304

D. FBSO4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1WAY4cXlQA5N
https://dl.doubtnut.com/l/_e9iRo5NFgCUv

338. Rusting of iron in moist air involves:

A. Loss of electrons by Fe

B. Gain of electrons by Fe

C. Neither gain nor loss of electrons

D. Hydration of Fe

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_e9iRo5NFgCUv
https://dl.doubtnut.com/l/_3Bh7kpvy5CXg

339. d-block elements generally form:

A. Covalent hydrides

B. Metallic hydrides

C. Salt-like hydrides

D. None

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LEF9mKyJZpIf

340. Second series of transition elements

starts with:

A. Yitrium

B. Chromium

C.Zinc

D. Scandium

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6gn1LK0LNjHI
https://dl.doubtnut.com/l/_PWrmmvwBs51u

341. The number of incomplete orbitals in

inner transition elements is:

A3

B.4

C.2

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PWrmmvwBs51u

342. which catalyst used for the hydrogenation

of vegetable oils for making margarine?

o Watch Video Solution

343. F'eSO, , forms brown ring with

A. NOj3

B.NO

C. NyO

D. N,O4


https://dl.doubtnut.com/l/_8ASHJ0UcF2JE
https://dl.doubtnut.com/l/_Kdc1xIvtgSlj

Answer: B

o Watch Video Solution

344. The brown ring obtained in the ring test

for nitrate is due to the formation of:

A. F62504

B. FGSO4

C. FGSO4 - NO

D. Fey SO, - 2NO;


https://dl.doubtnut.com/l/_Kdc1xIvtgSlj
https://dl.doubtnut.com/l/_RhqiSLXagV4d

Answer: C

o Watch Video Solution

345. The metallic nature of transition elements

is than that of alkali metals.

A. Less

B. More

C.Same

D. None


https://dl.doubtnut.com/l/_RhqiSLXagV4d
https://dl.doubtnut.com/l/_xN60ghmFrFiq

Answer: A

o Watch Video Solution

346. Chromium compound used in training of

leather is:

A. C’I"203
B. C’l"OzClg
C. C’I”Cl3

D. K,S0, - Cr(S0y), - 24H,0


https://dl.doubtnut.com/l/_xN60ghmFrFiq
https://dl.doubtnut.com/l/_jIHbQHFKvDom

Answer: D

o Watch Video Solution

347. The stability of ferric ion is due to:

A. Completely filled d-orbitals

B. Half filled d-orbitals

C. Half filled f orbitals

D. Completely filled f-orbitals

Answer: B


https://dl.doubtnut.com/l/_jIHbQHFKvDom
https://dl.doubtnut.com/l/_ZjeMY7qOthTJ

° Watch Video Solution

348. Which transiton element shows the
highest oxidation state:

A. Fe

B. Mn

C.V

D.Cr

Answer: B

r. |



https://dl.doubtnut.com/l/_ZjeMY7qOthTJ
https://dl.doubtnut.com/l/_as9hm8MxLTdH

{ ™ vvaldll vidcO SOI1Ution |

349. Chromium has most stable oxidation

state of:

A +5

B.+3

C.+2

D. +4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_as9hm8MxLTdH
https://dl.doubtnut.com/l/_BCwqibIuNgAN

350.The Fe® + ionis:

A. Blue

B. Light green

C. Very dark green

D. Yellow

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_BCwqibIuNgAN
https://dl.doubtnut.com/l/_X73FUInxZxfq

351. Which metal makes steel suitable for

cutting purposes by maintaining the cutting

edge of the blades?

A. MnO

B. Al

C.W

D.C

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zY2M3RxGFHJ7

352. Which does not possess allotropic forms?

A C

B. Sn

C.Fe

D.P

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tDHE8lDzp0Rm

353. Heteropoly acids are formed by:

A. Be

B. Fe

C. Mo

D.Cr

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9qyQjuBYzKXV

354. Densities of transition metals are:

A. Low

B. Very low

C. High

D. Very high

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4rd6fk1T5ux4

355. Which of the following metals can deposit

Cu from CuSO, solution?

A. Hg

B. Fe

C. Au

D. Pt

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5DpvkxvvdIha
https://dl.doubtnut.com/l/_00rNMhvTqriO

356. Invar steel, which is very little affected by

temperature changes, contains 36%:

A. Co

B. Ni

C.Cu

D. Al

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_00rNMhvTqriO

357. Blow holes of steel are removed by

adding:

A C

B. Ni

C. Sand

D. Spiegeleisen

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_KVV6tMgYyi5Q
https://dl.doubtnut.com/l/_9n5DXLFXGP3f

358. Which statement is not correct

A. Fe(Co) reacts with Br,Cly

B. Carbonyl complexes are usually formed
with transition metals

C. All transition metals form mono metallic
carbonyls

D. The decomposition of Ni(CO), to give
Ni used in the extraction of Ni by Mond.s

process.


https://dl.doubtnut.com/l/_9n5DXLFXGP3f

Answer: C

° Watch Video Solution

359. The density of transition metals in a

series:

A. Gradually increases

B. Gradually decreases

C. Remains constant

D. None


https://dl.doubtnut.com/l/_9n5DXLFXGP3f
https://dl.doubtnut.com/l/_G0sfre6UCLFU

Answer: A

o Watch Video Solution

360. Each transition series contains:

A. 12 elements

B. 10 elements

C. 14 elements

D. 8 elements

Answer: B


https://dl.doubtnut.com/l/_G0sfre6UCLFU
https://dl.doubtnut.com/l/_KV2SRmwKVTrJ

° Watch Video Solution

361. The transition elements are paramagnetic

due to the presence of ...

A. Completed d-orbitals

B. Completed f-orbitals

C. Unpaired electrons

D. None

Answer: C

l ﬂ Watch Video Solution ]


https://dl.doubtnut.com/l/_KV2SRmwKVTrJ
https://dl.doubtnut.com/l/_v9kPZ43qC7lD

362. Transition metals in their compounds

show:

A. lonic bonds

B. Covalent bonds

C. lonic and covalent bonds

D. lonic and co-ordinate bonds

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_v9kPZ43qC7lD
https://dl.doubtnut.com/l/_QMLRqEc9fmr7

363. Transition metals and their oxides are

used in industrial processes as:

A. Detergents

B. Insecticides

C. Catalysts

D. None

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QMLRqEc9fmr7
https://dl.doubtnut.com/l/_k95h7NOWLmIn

364. Which statement is incorrect about

transiton elements?

A. All elements form complexes

B. All are paramagnetic

C. All show variable valency

D. All are not coloured ions

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BskfpAwZn27T
https://dl.doubtnut.com/l/_vugnNvDAf0wo

365. The elements with differentiating electron

entering into (d-orbital ) of penultimate shell

are known as:

A. Alkali metal

B. Alkaine earth metal

C. Transition metal

D. None

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vugnNvDAf0wo
https://dl.doubtnut.com/l/_hmINsg2czCGt

366. In the first transition series, the

differentiating electrons enters:

A. 5d-orbital

B. 4d-orbital

C. 3d-orbital

D. 2d-orbital

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hmINsg2czCGt

367. The ionisation potential of transition

metals is than p-block elements:

A. Less

B. More

C. Equal

D. None

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_f7HyAwIbXDLV
https://dl.doubtnut.com/l/_TnY9zKh4xPBl

368. The 3d-transition series contains elements

from atomic number:

A. 22 to 30

B.21to 30

C.21to 31

D. 21to 29

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TnY9zKh4xPBl

369. Group 11 or IB elements are commonly

known

A. Coinage metals

B. Transition metals

C. Typical elements

D. Representative elements

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uBrPWunQbdnb
https://dl.doubtnut.com/l/_gdQ4vsAv2ISe

370. All metal chlorides are soluble in water

except those of :

A. Ag, Pb, Hg

B. Na, K, Ca

C.Zn,Cu,Cd u]

D. Ba, Sr, Li

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gdQ4vsAv2ISe

371. The correct formula for diamine silver (I)

chloride is :

A.|[Ag(NH;3)|Cl
B. [Ag(NH;),|Cl
C. [Ag(NH,),|Cl

D. [Ag(NH,),|Cl

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2wkNshZTmXta
https://dl.doubtnut.com/l/_tS0IZqCe159x

372. The solubility of silver bromide in hypo
solution is due to the formation of:

A. A92503

B. Ang203

C. [Ag(SQO _ 3)’)°

D. [Ag($:03),]°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tS0IZqCe159x

373. Which one is more soluble in water ?

A. Agl

B. AgCl

C. AgBr

D. AgF

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pXmCV3BsqQsQ

374. An aqueous solution of CuSO, and

NH,OH gives a deep blue complex of :

A. Cupperammonium Sulphate

B. Cuprammonium hydroxide

C. Sodium hexametaphosphate

D. None

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_opr1UetBMKVh
https://dl.doubtnut.com/l/_U95HmCFwtEJF

375. The mineral from which is not

munufactured by copper :

A. Galena

B. copper Pyrite

C. Malachite

D. Chalcopyrite

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_U95HmCFwtEJF

376. In the extraction of copper , the metal
formed in the Bessemer's converter is due to

the reaction :

o Watch Video Solution

377. Verdigris is :

A. Basic copper acetate

B. Basic lead aceate

C. Ferrous ammonium sulphate


https://dl.doubtnut.com/l/_maLdbwE0Ts5Q
https://dl.doubtnut.com/l/_IVX1xlQtd2V2

D. Potassium ferrocyanide

Answer: A

o Watch Video Solution

378. The silver glance ore on leaching with of :

A.Nay(Ag(CN),]
B. Na|Ag(CN),]
C. Nay|Ag,(CN),]

D. Na™ (Ag(CN)] ™~


https://dl.doubtnut.com/l/_IVX1xlQtd2V2
https://dl.doubtnut.com/l/_qQ0TuwSaqPGU

Answer: B

o Watch Video Solution

379. Which one of the following properties

would you not expect copper to exhibit ?

A. Malleability

B. High thermal conductivity

C. Low electrical conductivity

D. Ductility


https://dl.doubtnut.com/l/_qQ0TuwSaqPGU
https://dl.doubtnut.com/l/_WpbeQ9cvei54

Answer: C

o Watch Video Solution

380. What effect is noticed on shaking dilute
sulphuric acid with a small quantity of
anhydrous copper sulphate ?
A.The white solid dissolves to from a
colourless solution

B. The white solid dissolves to from a green

solution


https://dl.doubtnut.com/l/_WpbeQ9cvei54
https://dl.doubtnut.com/l/_G1QLbe5WYyBE

C. The white solid turns blue but does not

dissolves

D. The white solid dissolves to from a blue

solution

Answer: D

o Watch Video Solution

381. Schweitzer's reagent used for dissolving

cellulose in the manufacture of artificial silk is :


https://dl.doubtnut.com/l/_G1QLbe5WYyBE
https://dl.doubtnut.com/l/_ti076tpkpOV7

A. C’U,SO4 5H2O
B. Cul
C. [Cu(NH3),(H0),|(OH),

D. Cu(CH;C00),Cu(OH),

Answer: C

° Watch Video Solution

382. What happens when Potassium iodide
solution is added to an aqueous solution of

copper sulphate. Give equation.


https://dl.doubtnut.com/l/_ti076tpkpOV7
https://dl.doubtnut.com/l/_HVFkZ0ibW790

A. C’U,IQ

B.C — 27

D.C+ I,

Answer: C

° Watch Video Solution

383. Bronze is an alloy composed of :

A. Cu + Sn


https://dl.doubtnut.com/l/_HVFkZ0ibW790
https://dl.doubtnut.com/l/_fPaPGT8vFm06

B. Cu+ Zn

C.Ph +Sn + Zn

D.Pb + Zn

Answer: A

° Watch Video Solution

384. Write down the composition of German

silver.

A 1.5%


https://dl.doubtnut.com/l/_fPaPGT8vFm06
https://dl.doubtnut.com/l/_dMPbVydh8wyt

B.2.5%

C.10%

D. Zero per cent

Answer: D

° Watch Video Solution

385. A yellow precipitate will be obtained if

AgNOQOs is added to a solution of :

A KIOs


https://dl.doubtnut.com/l/_dMPbVydh8wyt
https://dl.doubtnut.com/l/_QdgLyxoDaHhj

B. KI

C.CHI;

D. CH,I

Answer: B

° Watch Video Solution

386. In the electrorefining of copper, some

gold is deposited as :

A. Cathode


https://dl.doubtnut.com/l/_QdgLyxoDaHhj
https://dl.doubtnut.com/l/_nEE985CEpnnK

B. Cathode mud

C. Anode mud

D. None

Answer: C

° Watch Video Solution

387. Auric chloride on reaction with ferrous

sulphate changes to :

A. Au


https://dl.doubtnut.com/l/_nEE985CEpnnK
https://dl.doubtnut.com/l/_oPmOpOlUdoSN

B. AuCl
C. F€2804

D. F€2(804)3

Answer: A

° Watch Video Solution

388. Gun metal is an alloy of

A. Cu and Al

B. Cu,Sn and Zn


https://dl.doubtnut.com/l/_oPmOpOlUdoSN
https://dl.doubtnut.com/l/_4VvjDzxfTdzk

C.Cu,Zn and Ni

D. Cu and Sn

Answer: B

° Watch Video Solution

389. Bell metal is an alloy of :

A. Zinc and copper

B. Copper and nickel

C.Zinc and lead


https://dl.doubtnut.com/l/_4VvjDzxfTdzk
https://dl.doubtnut.com/l/_YuaDl4Edy1AW

D. Copper and tin

Answer: D

o Watch Video Solution

390. An aqueous solution of CuSO, turns

blue litmus to :

A. Blue

B. Green

C. Yellow


https://dl.doubtnut.com/l/_YuaDl4Edy1AW
https://dl.doubtnut.com/l/_WgRmcP6r2Q9m

D. Red

Answer: D

o Watch Video Solution

391. A blue colouration is not obtained when :

A. Ammonium hydroxide dissolves in
copper sulphate

B. Copper sulphate solution reacts with

Ky|[Fe(CN)g]


https://dl.doubtnut.com/l/_WgRmcP6r2Q9m
https://dl.doubtnut.com/l/_qj3nLnRmBiNz

C. Ferric chloride reacts with sodium ferro-

cyanide

D. Anhydrous white CuS0, is dissolved in

water

Answer: B

o Watch Video Solution

392. Silver is extracted from argentiferous lead

by :


https://dl.doubtnut.com/l/_qj3nLnRmBiNz
https://dl.doubtnut.com/l/_QDmRK6xSEbXn

A. Mond process

B. Parkes process

C. Haber process

D. Bergius process

Answer: B

o Watch Video Solution

393. Copper can be extracted from:

A. Kupfer - nickel


https://dl.doubtnut.com/l/_QDmRK6xSEbXn
https://dl.doubtnut.com/l/_g6lLNzJrldIn

B. Dolomite

C. Malachite

D. Galena

Answer: C

o Watch Video Solution

394. The blue complex ion formad on addition
of conc. NH,;OHsolution to a Cu®" salt

solution is :


https://dl.doubtnut.com/l/_g6lLNzJrldIn
https://dl.doubtnut.com/l/_IVaVhZWePDKw

A [Cu(NHy),]*"

B. [Cu(NH;),]""

C. [Cu(NH;),]*"

D. [Cu(NH,),]""

Answer: C

o Watch Video Solution

395. Blister copper is

A. Pure copper


https://dl.doubtnut.com/l/_IVaVhZWePDKw
https://dl.doubtnut.com/l/_XWDu4gH3wsnO

B. Copper containing 2 % impurity

C. Alloy of copper

D. None

Answer: B

o Watch Video Solution

396. Silver nitrate produces a black stain on

skin due to :

A. Its corrosive action


https://dl.doubtnut.com/l/_XWDu4gH3wsnO
https://dl.doubtnut.com/l/_CwpCisd9kVs7

B. Its reduction to metallic silver

C. Its strong reducing action

D. The formation of a complex compound

Answer: B

o Watch Video Solution

397. Cuprous chloride is obtained from cupric

chloride :

A. By heating capric chloride with cholrine


https://dl.doubtnut.com/l/_CwpCisd9kVs7
https://dl.doubtnut.com/l/_8VNuSxXsPrcv

B. By the electrolysis of cupric chloride con-

taining HCl

C. By heating cupric chloride with conc. HCI

and copper turnings

D. By passing Hy OVER CuCl,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8VNuSxXsPrcv

398. From sodium
Na|Ag(CN),|, silver is
adding a powder of :

A.Tin

B. Zinc

C. Mercury

D. Calcium

Answer: B

argentocyanide

precipitated by

o Watch Video Solution



https://dl.doubtnut.com/l/_i3iy66zehwJI

399. German silver is alloys of

A. Copper, zinc and nickel

B. Copper and silver

C. Copper and tin

D. Copper , zine and silver

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KqMWx7028zN2

400. Silver nitrate solution gives a red

precipitate with :

A. Sodium iodide

B. Potassium chloride

C. Calcium nitrate

D. Sodium chromate

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_v3s2qJB36YGQ
https://dl.doubtnut.com/l/_V1AO3FQYphVq

401. Percentage of gold in 20 carat gold is :

A. 216

B. 90

C.83.3

D.70

Answer: B

o Watch Video Solution

402. Lunar caustic is chemically:


https://dl.doubtnut.com/l/_V1AO3FQYphVq
https://dl.doubtnut.com/l/_383ghAZzla7y

A. Silver chloride

B. Silver nitrate

C. Sodium hydroxide

D. Potassium nitrate

Answer: B

o Watch Video Solution

403. The action of HCI on silver nitrate

produces:


https://dl.doubtnut.com/l/_383ghAZzla7y
https://dl.doubtnut.com/l/_js7DNKOxfvFc

A. A precipitate of AgCl

B. Chlorine gas

C. No visible change

D. A black stain of silver

Answer: C

o Watch Video Solution

404. Which is least soluble in water:

A. AgCl


https://dl.doubtnut.com/l/_js7DNKOxfvFc
https://dl.doubtnut.com/l/_oyvOcNwY096H

B. AgF

C. Agl

D. AgBr

Answer: C

° Watch Video Solution

405. A reaction between copper and hot

concntratd sulphuric acid produces :

A. 50,


https://dl.doubtnut.com/l/_oyvOcNwY096H
https://dl.doubtnut.com/l/_aabppLM8uuPt

B. 503

C. H,O

D.Cu™ ions

Answer: A

° Watch Video Solution

406. Copper sulphate is commercially made

from copper scrap by :


https://dl.doubtnut.com/l/_aabppLM8uuPt
https://dl.doubtnut.com/l/_s0iKdENkvtVV

A. Dissolving in hot concentrated sulphuric

acid

B. Action of dilute sulphuric acid and air

C. Heating with sodium sulphate

D. Heating with sulphur

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_s0iKdENkvtVV

407. On adding excess of ammonium

hydroxide to a copper chloride solution :

A.Blue precipitate of copper hydroxide

hydroxide is obtained

B. Black precipitate of copper oxide is

obtained

C. A deep blue solution is obtained

D. No change is observed

Answer: C

| - |


https://dl.doubtnut.com/l/_hv0e1GMkTIo4

I QJ Watch Video Solution I

408. Which is alloyed with copper to from

bronze ?

A. lron

B. Manganese

C.Tin

D. Zine

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_hv0e1GMkTIo4
https://dl.doubtnut.com/l/_toM8bPlBKzLs

409. On adding Kl solution to a solution of

CuS0y, a white precipitate of ..... Is formed .

A. Potassium sulphate

B. Cuprous sulphate

C. Cuprous iodide

D. Cupric iodide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_toM8bPlBKzLs
https://dl.doubtnut.com/l/_uSm7WJ9ZMrOQ

410. Argentite is an ore of :

A. Cu

B. Ft

C. Au

D. Ag

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gdt6gSpvFKBm

411. For which one of the following ions, the

colour is not duo to a d-d transition :

A. CTOZ_
B. Cu(NH;): "
C.Ti(H,0)3"

D. COF;~

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ja6Nml2VxfVS
https://dl.doubtnut.com/l/_tJx5QmJr8dze

412. Silver chloride dissolves in a solution of

ammonia but not in water because:

A. Ammonia is a better solvent than water

B.Silver ion forms a complex ion with

ammonia

C. Ammonia is a stronger base than water

D. The dipole moment of water molecule is

higher than that of ammonia molecule

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tJx5QmJr8dze

413. In the purification of copper by

electrolysis, which is incorrect ?

A. Acidic solution of Cu (ll) sulphate is used
B. H;0 ™ ion is discharged at cathode
C. Anode is made of impure copper

D. OH ~ is discharged at anode

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tJx5QmJr8dze
https://dl.doubtnut.com/l/_PbqYUAH7vW37

414. In photography we use :

A. AgCl

B. AgBr

C. Agl

D. NH,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_o1Vlc6shLHOh

415. Which is known as purple of cassius ?

A. Colloidal silver solution

B. Colloidal gold solution

C. Aqueous solution of soap

D. As, S5 colloidal solution

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_O1fgBBvMw6QE

416. Brass is an alloy of :

A.Zn and Cu

B. Cu and Sn

C.Zn and Sn

D. Cu, Zn and Sn

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_W8B2RfoNNFef

417. An ore of silver is :

A. Argentite

B. Stibnite

C. Haematite

D. Bauxide

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_R6b5njErnEmN

418. A developer used in photography is :

A. A week acid

B. A weak base

C. A mild reducing agent

D. An oxidising agent

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FFruloAId0qQ

419. Which of the following statements
regarding copper salte is not true:
A. Copprer (l) disproportionates into Cu
and Cu (ll) in aqueous solution
B. Copper (lI) can be stabilised by the
formation  of insoluble  complex
compound such as CuCl, and
Cu(CN),

C. Copper (Il) oxide is red powder


https://dl.doubtnut.com/l/_XR5ArmiMOGa7

D. Hydratd CuSOy is

[C’U,(HQO)ZJ SO4H20

Answer: C

° Watch Video Solution

420. Which of the following alloys does not

contain copper?

A. Solder

B. Bronze


https://dl.doubtnut.com/l/_XR5ArmiMOGa7
https://dl.doubtnut.com/l/_AK4cmii6MtyO

C. Brass

D. Bell metal

Answer: A

° Watch Video Solution

421. In the extraction of copper we use:

A.CuFeS,

B. CU2S

C. Pyrites


https://dl.doubtnut.com/l/_AK4cmii6MtyO
https://dl.doubtnut.com/l/_SsRMykGK0GRC

D. Silver argentocyanide

Answer: A

o Watch Video Solution

422. The process used in obtaining metallic

silver from argentite is :

A.Fused mixturte of Ag,S and KCl is

electrolysed

B. Ag,S is reduced with CO


https://dl.doubtnut.com/l/_SsRMykGK0GRC
https://dl.doubtnut.com/l/_rnr5ZxURkuek

C.AgyS is roasted to Ag,O which is

reduced with C

D. Treating with NaCN solution following by

metal displacment with zinc

Answer: D

o Watch Video Solution

423. The slag obtained during the extraction

of copper pyrites is composed mainly of :


https://dl.doubtnut.com/l/_rnr5ZxURkuek
https://dl.doubtnut.com/l/_yGDM33IpGbyk

A. CUgS

B. FBSZOg

C. C’U,SZOg

D. 510,

Answer: B

o Watch Video Solution

424. AgCl dissolved in ammonia solution giving

A.Ag*,NH," and Cl


https://dl.doubtnut.com/l/_yGDM33IpGbyk
https://dl.doubtnut.com/l/_xgWWR7VPpWng

B. Ag(NHs) " and CI~
C. Agy(NHs), and Cl

D. Ag(NHs), and CT~

Answer: D

° Watch Video Solution

425, C’U,zO IS :

A. Black oxide of copper

B. Copper (Il) oxide


https://dl.doubtnut.com/l/_xgWWR7VPpWng
https://dl.doubtnut.com/l/_uR2JlPLR315s

C. Red oxide of copper

D. Cupric oxide

Answer: C

° Watch Video Solution

426. Cu’" ions would be reducd to cuprous

ion if their solution are mixed with an aqueous

A. Kl solution


https://dl.doubtnut.com/l/_uR2JlPLR315s
https://dl.doubtnut.com/l/_iTe3o5MpbKHX

B. KCl solution

C. KCOj5 solution

D. K550 solution

Answer: A

o Watch Video Solution

427. Which method is used to remove silver

impurities from lead?

A. Leaching with dilute NaC Nsolution


https://dl.doubtnut.com/l/_iTe3o5MpbKHX
https://dl.doubtnut.com/l/_L5y5PGHbcLzH

B. Parke's process

C. Leaching with dilute NaCN in presence

of air

D. Electrolytic purification using AgNOj

Answer: B

° Watch Video Solution

428. Which is used in photography ?

A. AgCl


https://dl.doubtnut.com/l/_L5y5PGHbcLzH
https://dl.doubtnut.com/l/_ViYNUGKiFwvM

B. Ang

C. AgNO3

D. Agg C’I"04

Answer: C

° Watch Video Solution

429. Gold dissolves in aqua-regia forming :

A. Auric chloride

B. Aurous chloride


https://dl.doubtnut.com/l/_ViYNUGKiFwvM
https://dl.doubtnut.com/l/_tnI6Yp77O0y2

C. Chloroauric acid

D. Aurous nitrate

Answer: C

° Watch Video Solution

430. An extremely hot copper wire reacts with

steam to give :

A. CuO

B. CUQO


https://dl.doubtnut.com/l/_tnI6Yp77O0y2
https://dl.doubtnut.com/l/_AURxLdBVrfNf

C. CU202

D. CU02

Answer: A

° Watch Video Solution

431. Silver halides are used in photography

because they are :

A. Photosensitive

B. Soluble in hypo solu